

Direct Dial: (416) 216-4771 Direct Fax: (416) 216-3930 ataylor@ogilvyrenault.com

#### SENT BY COURIER & E-FILING

Toronto, June 2, 2008

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street Suite 2700 PO Box 2319 Toronto, ON, M4P 1E4

Dear Ms. Walli:

RE: Rideau St. Lawrence Distribution Inc. ("RSL")
Draft Rate Order, EB-2007-0762

We are counsel to RSL, as such, please find enclosed the updated Draft Rate Order, in response to VECC comments.

Yours very truly,

Andrew Taylor

AT/mej

Enclosure

Canada

## RIDEAU ST. LAWRENCE DISTRIBUTION INC.

## EB-2007-0762

# DRAFT RATE ORDER RESPONSE TO VECC COMMENTS

**JUNE 2, 2008** 

Rideau St. Lawrence has reviewed comments submitted by VECC dated May 26, 2008. VECC's comments focused on two areas; LV Costs and Rate Design.

#### LV Costs:

In reply to VECC's comments on RSL's Draft Rate Order RSL acknowledges that Rideau 's draft rate order in regard to the calculation of LV Charges did include the one-third variance that related to the 2007 variance. RSL has revised its calculations in Appendix "A" of this document using the corrected amount of \$192,735 for LV Charges.

#### Rate Design:

RSL has calculated the transformer allowance "cost" in the draft rate order as follows: For 2008, RSL forecasts issuing credits of \$37,012 in transformer allowance credits to customers (at \$0.60/kW per month). The recovery of these credits has been allocated across all customer classes, based on the proportion of distribution revenue requirement allocated to each customer class. Each customer class' allocation of transformer allowance recoveries was used to derive embedded variable

rates, which were included in the final variable rates.

This approach is consistent with RSL's original application. RSL did not receive any comment during the interrogatory or argument stage on this method and therefore has not varied from their original approach for rate design purposes.

LV costs have been allocated to customer classes by applying the same percentage that is forecast to be collected in retail transmission rates by customer class. Details showing this calculation have been provided in Schedule "A" – page 35.

RSL respectfully submits that sufficient documentation has been submitted to set rates. For clarity RSL has appended a revision - Schedule "A" with the recalculation for the removing the 2007 variance amount from the revised LV Charges costs. Schedule "A" provides the following revision to RSL's May 20'th Draft Rate Order Submission: PIL's, PIL's detail, working capital calculation, Cost of Capital – Revenue Requirement, Costs Allocations, fixed - variable split, LV allocation detail, revenue requirement reconciliation, draft tariff of rates and charges, and customer bill impacts.

Rideau St. Lawrence Distribution Inc. respectfully submits the following revised Draft Rate Order, including a Proposed 2008 Tariff of Rates and Charges as instructed by the Ontario Energy Board in the May 6, 2008 Decision, included in Schedule "A" (beginning at page 29) of this submission.

Upon completion of the interrogatory and submission requirements in OEB proceeding EB-2007-0762, the OEB addressed the following issues in their decision:

- 1. Load Forecast
- 2. Operating, Maintenance and Administrative Expenses
- 3. Payment in Lieu of Taxes
- 4. Capital Expenditures and Rate Base
- 5. Cost of Capital and Capital Structure
- 6. Cost Allocation and Rate Design
- 7. Deferral and Variance Accounts
- 8. Smart Meters

Rideau St. Lawrence Distribution Inc. has recalculated the original rates proposed in the 2008 Electricity Distribution Rate Application. The revised rates have been adjusted as per the direction of the OEB in the following manner:

#### **LOAD FORECAST:**

The Board accepted RSL's load forecast and did not request any changes.

#### **OPERATING, MAINTENANCE AND ADMINISTRATIVE EXPENSES:**

The Board concluded that RSL's forecast for OM & A expenses were reasonable. The Board accepted RSL's approach to spread the costs of its 2008 application (\$70,000) over three years by including \$23,333 in rates for 2008 as originally submitted. An adjustment for depreciation associated with the delayed capital projects is addressed later in this draft rate order.

#### PAYMENT IN LIEU OF TAXES (PILs)

The Board directed RSL to reflect the new federal small business income tax rate (reduced to 11%, yielding a combined federal and Ontario small business income tax rate for 2008 of 16.5%) and the new CCA class rates, especially for computer software and hardware.

The following tables provides a comparison between what Rideau St. Lawrence submitted to the Board on November 22, 2007 and the Boards direction dated May 6, 2008 with regards to Payment in Lieu of Taxes (PILs). The changes take into consideration both the change to the combined federal and Ontario small business income tax rate for 2008 to 16.5% and the new CCA rates for computer hardware and software acquired after March 17, 2007.

The change to the Taxable Regulatory Income is also impacted by other changes directed by the Board such as the postponement of capital expenditures for 2007 to 2008, the recalculation of the Cost of Power and the new lower transmission rates, and the reflection of the revision to the deemed capital structure of 53.3 % debt and 46.7% equity.

### Original Submission: November 22, 2007:

#### Income Tax Rates

Income Range

	0 to	300,000 to	400,000 to	1,128,519
	300,000	400,000	1,128,519	or more
Federal Income Tax	11.500%	11.500%	20.500%	20.500%
Ontario Income Tax	5.500%	5.500%	14.000%	14.000%
Combined Income Tax	17.000%	17.000%	34.500%	34.500%

Payment in Lieu of Taxes (PILs)

	Source	Tax	Inclusion in	
	or Input	Payable	Revenue Req.	
Regulatory Taxable Income	TxblIncome	160,962		
Combined Income Tax Rate	TaxRates	<u>17.000</u> %		
Total Income Taxes		27,364		
Investment Tax Credits	-			
Miscellaneous Tax Credits				
Total Tax Credits				
Income Tax Provision		27,364	32,968	grossed-up for income taxes
Ontario Capital Tax	CapitalTaxes	-	•	not grossed-up
Large Corporations Tax	CapitalTaxes	-	•	grossed-up for income taxes
Total PILs		27,364	32,968	amount for Output

## **Boards Direction May 6, 2008:**

#### **Revised Income Tax Rates**

	Income Range			
	0 to 300,000	300,000 to 400,000	400,000 to 1,128,519	1,128,519 or more
Federal Income Tax	11.000%	11.000%	20.500%	20.500%
Ontario Income Tax	5.500%	5.500%	14.000%	14.000%
Combined Income Tax	16.500%	16.500%	34.500%	34.500%

Revised Payment in Lieu of Taxes (PILs) results

•	Source or Input	Tax Payable	Inclusion in Revenue Req.	
Regulatory Taxable Income	Txblincome	127,303		
Combined Income Tax Rate	TaxRates	<u>16.500</u> %		
Total Income Taxes Investment Tax Credits Miscellaneous Tax Credits	-	2 <b>1</b> ,005		
Total Tax Credits	ĺ			}
Income Tax Provision		21,005	25,156	grossed-up fo
Ontario Capital Tax	CapitalTaxes	-	-	not grossed-u
Large Corporations Tax	CapitalTaxes			grossed-up fo
Total PILs		21,005	25,156	amount for O

grossed-up for income taxes not grossed-up grossed-up for income taxes amount for Output

#### CAPITAL EXPENDITURES AND RATE BASE

The Board' Decision found that RSL's proposed capital expenditures were appropriate. The 2008 rate base and depreciation expense are to be adjusted to reflect the postponement of projects from 2007 to 2008.

The following tables provides a comparison between evidence Rideau St. Lawrence submitted to the Board on November 22, 2007 and the Board's Decision dated May 6, 2008 with regards to projected capital expenditures for both the Bridge and test years, 2007 and 2008 respectively.

The changes reflect the postponement of projects from 2007 to 2008.

Amortization expense has also been adjusted for both the bridge (2007) and test year (2008) as a result of the deferment of these two capital projects.

#### Original Capital Projects Submitted November 22,

Capital Spending	ServiceYr		
Project	2007	2008	Grand Total
P00001 - 1820	13,000		13,000
P2 - 1830	30,000		30,000
P3 - 1835	30,000		30,000
P4 - 1845	20,000		20,000
P5 - 1850	25,000		25,000
P6 - 1855	20,000		20,000
P7 - 1860	10,000		10,000
P15 - 1835	1 .5,555	45,000	45,000
P16 - 1850		20,000	20,000
P21 - 1940		10,000	10,000
P22 - 1995	-16,462		-16,462
P23 - 1930 New 1/2 Ton Utility	}	25,000	25,000
P25 - 1940 Voltage Monitor	10,000		10,000
P24 - 1860 Interval Meters Project	30,000		30,000
P8 - 1915 Office furniture and Equipment	5,000		5,000
P9 - 1920 PC Upgrades	10,000		10,000
P10 - 1930 Line Truck Chassis2	180,000		180,000
P11 - 1940 Tools	5,000		5,000
P13 - 1820 Wholesale meter Points Upgrade	1	62,400	62,400
P14 - 1830		45,000	45,000
P17 - 1860 Meters	ĺ	5,000	5,000
P18 - 1920 Harris/Settlement Servers		35,000	35,000
P19 - 1925 Harris V6 Windows / SQL Upgrade		60,000	60,000
P20 - 1930 Line Truck Box, Equipment	45,000		45,000
P12 - 1806 Storage Facility		40,000	40,000
Grand Total	416,538	347,400	763,938

## Revised Capital Projects per Boards Direction May 6, 2008:

Capital Spending	ServiceYr		
Project	2007	2008	Grand Total
P00001 - 1820	13,000		13,000
P2 - 1830	30,000		30,000
P3 - 1835	30,000		30,000
P4 - 1845	20,000		20,000
P5 - 1850	25,000		25,000
P6 - 1855	20,000		20,000
P7 - 1860	10,000		10,000
P15 - 1835		45,000	45,000
P16 - 1850	ŀ	20,000	20,000
P21 - 1940		10,000	10,000
P22 - 1995	-16,462		-16,462
P23 - 1930 New 1/2 Ton Utility	ĺ	25,000	25,000
P25 - 1940 Voltage Monitor	10,000		10,000
P24 - 1860 Interval Meters Project		30,000	30,000
P8 - 1915 Office furniture and Equipment	5,000		5,000
P9 - 1920 PC Upgrades	10,000		10,000
P10 - 1930 Line Truck Chassis2	ł	180,000	180,000
P11 - 1940 Tools	5,000		5,000
P13 - 1820 Wholesale meter Points Upgrade		62,400	62,400
P14 - 1830	ĺ	45,000	45,000
P17 - 1860 Meters	1	5,000	5,000
P18 - 1920 Harris/Settlement Servers	1	35,000	35,000
P19 - 1925 Harris V6 Windows / SQL Upgrade		60,000	60,000
P20 - 1930 Line Truck Box, Equipment		45,000	45,000
P12 - 1806 Storage Facility		40,000	40,000
Grand Total	161,538	602,400	763,938

## Fixed Asset Continuity Schedule as submitted Nov. 22, 2007:

(Note: only those schedules that have changed are presented here)

ACCOUNT:

1860

1860-Meters

	Г		BRIDGE YEAR			TEST YEAR	
	Г	Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated Amortization	Net Book Value
Opening Balance		355,940	-76,914	279,026	395,940	-91,951	303,988
Additions		40,000		40,000	5,000		5,000
Depreciation	4.0%		-15,038	-15,038		-15,938	-15,938
Retirements & Sales		0	0	0	0	0	0
Other (specify)	Fully Depr, still used			0			0
•				0			0
				0			0
Closing Balance		395,940	-91,951	303,988	400,940	-107,889	293,051
Average Balance		375,940	-84,433	291,507	398,440	-99,920	298,519
Change in Year		40,000	-15,038	24,962	5,000	-15,938	-10,938

ACCOUNT:

1930

1930-Transportation Equipment

			BRIDGE YEAR			TEST YEAR	
	Γ	Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated   Amortization	Net Book Value
Opening Balance		0	0	0	225,000	-14,063	210,938
Additions		225,000		225,000	25,000		25,000
Depreciation	12.5%		-14,063	-14,063		-29,688	-29,688
Retirements & Sale	s	0	0	0	0	0	C
Other (specify)	Fully Depr, still used			0			
				0			
				0			0
Closing Balance		225,000	-14,063	210,938	250,000	-43,750	206,250
Average Balance		112,500	-7,031	105,469	237,500	-28,906	208,594
Change in Year		225.000	-14.063	210.938	25.000	-29.688	-4.688

ACCOUNT:

1610:2005

TOTAL FIXED ASSETS IN SERVICE

			BRIDGE YEAR				
	Γ	Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated Amortization	Net Book Value
Opening Balance		4,473,933	-935,940	3,537,993	4,890,472	-1,153,354	3,737,117
Additions		416,538	0	416,538	347,400	0	347,400
Depreciation		0	-217,414	-217,414	0	-253,818	-253,818
Retirements & Sale	os .	0	0	0	-49,989	49,989	- 0
Other (specify)	Fully Depr, still used	0	0	0	49,989	-49,989	_ (
		0	0	0	0	0	
	Г	0	0	0	0	0	C
Closing Balance		4,890,472	-1,153,354	3,737,117	5,237,872	-1,407,172	3,830,700
Average Balance		4,682,203	-1,044,647	3,637,555	5,064,172	-1,280,263	3,783,909
Change in Year		416,538	-217,414	199,124	347,400	-253,818	93,582

## Revised Fixed Asset Continuity Schedule per Boards direction May 6, 2008:

ACCOUNT:

1860

1860-Meters

			BRIDGE YEAR		-	TEST YEAR	_
	Γ	Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated Amortization	Net Book Value
Opening Balance		355,940	-76,914	279,026	365,940	-91,351	274,588
Additions		10,000		10,000	35,000		35,000
Depreciation	4.0%		-14,438	-14,438		-15,338	-15,338
Retirements & Sales		0	0	0	0	0	0
Other (specify)	Fully Depr, still used			0			0
,				0		" "	0
				0			
Closing Balance		365,940	-91,351	274,588	400,940	-106,689	294,251
Average Balance		360,940	-84,133	276,807	383,440	-99,020	284,419
Change in Year		10,000	-14,438	-4,438	35,000	-15,338	19,662

#### FIXED ASSET CONTINUITY SCHEDULE

ACCOUNT:

1930

1930-Transportation Equipment

			BRIDGE YEAR				
		Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated Amortization	Net Book Value
Opening Balance		0	0	0	0	0	
Additions		0		0	250,000		250,000
Depreciation	12.5%		0	0		-15,625	-15,625
Retirements & Sales		0	0	0	0	0	C
Other (specify) F	ully Depr, still used			0	1		
				0			
		_		0			0
Closing Balance		0	0	0	250,000	-15,625	234,375
Average Balance		0	0	0	125,000	-7,813	117,188
Change in Year		0	0	0	250,000	-15,625	234,375

ACCOUNT:

1610:2005

TOTAL FIXED ASSETS IN SERVICE

		BRIDGE YEAR			TEST YEAR		
	Gross Cost	Accumulated Amortization	Net Book Value	Gross Cost	Accumulated Amortization	Net Book Value	
Opening Balance	4,473,933	-935,940	3,537,993	4,635,472	-1,138,692	3,496,780	
Additions	161,538	0	161,538	602,400	0	602,400	
Depreciation	0	-202,751	-202,751	0	-239,155	-239,155	
Retirements & Sales	0	0	_ 0	-49,989	49,989	0	
Other (specify) Fully Depr, still used	0	0	0	49,989	-49,989	0	
	0	0	0	0	0	0	
	0	0	0	0	0	0	
Closing Balance	4,635,472	-1,138,692	3,496,780	5,237,872	-1,377,847	3,860,025	
Average Balance	4,554,703	-1,037,316	3,517,387	4,936,672	-1,258,269	3,678,402	
Change in Year	161,538	-202,751	-41,213	602,400	-239,155	363,245	

Response to VECC, June 2, 2008 2008 Rate Application

Rideau St. Lawrence Distribution Inc. File Number: EB-2007-0762

#### **Working Capital**

The Board directed RSL to update the cost of power to reflect the price contained in the April 2008 RPP report, \$0.0545/kWh, and revise the working capital calculation using the revised cost of power and the new lower transmission rates.

#### **Cost of Power**

The Board directed RSL to update the cost of Power to reflect the price contained in the April 2008 RPP price report.

Cost of Power price submitted November 22, 2007: \$0.05704/kWh

Cost of Power used in calculating the Draft Rate Order as directed by the Board: \$0.0545/kWh

CoP Calculation: 118,759,464kWh x 1.0764 x \$0.0545 = \$6,966,881.

#### **Transmission Rates**

The Board directed RSL to use new lower transmission rates as contained in Hydro One's proposed rates. The Board accepted RSL proposed rates resulting in an 11.4% reduction in Network rates and a 7.6% reduction in Connection rates. These reductions have been reflected in the transmission rates used by RSL in its Working Capital Calculation as well as in the rates charged to it's customers in the Draft Rate Order.

Changes to the Working Capital can be seen in the following table:

WORKING CAPITAL ALLOWANCE CALCULATION BY ACCOU	<b>N</b> T 2008 Test	15%	Allowance for Working Capital	2008 Test	15%	Allowance for Working Capital
Operation (Working Capital)						
5005-Operation Supervision and Engineering	89,889	15%	13,483	89,889	15%	13,483
5012-Station Buildings and Fixtures Expense		15%	•	1,917		288
5016-Distribution Station Equipment - Operation Labour	1,329	15%	199	1,329	15%	199
5020-Overhead Distribution Lines and Feeders - Operation Laboration	our 7,922	15%	1,188	7,922	15%	1,188
5035-Overhead Distribution Transformers- Operation	3,861	15%	579	3,861	15%	579
5065-Meter Expense		15%	· -		15%	135
5070-Customer Premises - Operation Labour		15%			15%	49
5085-Miscellaneous Distribution Expense	60,985			60,985		9,148
5095-Overhead Distribution Lines and Feeders - Rental Paid	22,582			22,582	15%	3,387
Sub-T	otal 189,708	1	28,456	189,708		28,456
Maintenance (Working Capital)						
5110-Maintenance of Buildings and Fixtures - Distribution Statio	ns 175	15%	26	175	15%	26
5114-Maintenance of Distribution Station Equipment	70,700	15%	10,605	<b>70</b> ,7 <b>0</b> 0	15%	10,605
5120-Maintenance of Poles, Towers and Fixtures	39,343	15%	5,901	39,343	15%	5,901
5125-Maintenance of Overhead Conductors and Devices	94,356		·	94,356		14,153
5130-Maintenance of Overhead Services	41,393			41,393		6,209
5135-Overhead Distribution Lines and Feeders - Right of Way	72,966		·	72,966		10,945
5145-Maintenance of Underground Conduit		15%			15%	72
5150-Maintenance of Underground Conductors and Devices	12,464			12,464		1,870
5155-Maintenance of Underground Services	· ·	15%		8,776		1,316
5160-Maintenance of Line Transformers 5165-Maintenance of Street Lighting and Signal Systems	57,325	15%	·	57,325	15%	8,599
5175-Maintenance of Meters	4,008			4,008		- 601
Sub-T			60,298	401,986	.070	60,298
	<b>514</b> 1		00,200	401,000		00,200
Billing and Collections						
5310-Meter Reading Expense	53,194	15%	7,979	53,194	15%	7,979
5315-Customer Billing	264,669	15%	39,700	264,669	15%	39,700
5320-Collecting	32,388	15%	4,858	32,388	15%	4,858
5335-Bad Debt Expense	13,325	15%	1,999	13,325	15%	1,999
Sub-T	otal 363,576		54,536	363,576		54,536
Community Relations						
5410-Community Relations - Sundry	254				15%	38
Sub-T	otal 254	•	38	254		38
Administrative and General Expenses						
5605-Executive Salaries and Expenses	C	15%	-	0	15%	-
5615-General Administrative Salaries and Expenses	338,219	15%	50,733	338,219	15%	50,733
5620-Office Supplies and Expenses	15,909	15%	2,386	15,909	15%	2,386
5625-Administrative Expense Transferred Credit	19,578		2,937	19,578		2,937
5630-Outside Services Employed	72,879	15%	10,932	72,879	15%	10,932
5635-Property Insurance	37,463		•	37,463		5,619
5655-Regulatory Expenses	31,458			31,458		4,719
5665-Miscellaneous General Expenses	85,624			85,624		12,844
5670-Rent		15%	1,157	7,716		1,157
5675-Maintenance of General Plant	22,256	-		22,256	15%	3,338
Sub-T	otal 631,102		94,665	631,102		94,665
Taxes Other than Income Taxes:						
6105-Taxes Other than Income Taxes	22,426	15%	3,364	22,426	15%	3,364
Sub-T		•	3,364	22,426.00		3,364
Cost of Power	7.004.000	4.504	4 005 000	p 000 004	450/	4.045.000
4705-Power Purchased	7,301,929			6,966,881		1,045,032
4708-Charges-WMS	770,074 661.75 <i>4</i>			770,074 564 748		115,511 84 712
4714-Charges-NW 4716-Charges-CN	661,754 583,336		99,263 87,500	564,748 525,187		84,712 78,778
4730-Rural Rate Assistance Expense	12,004		1,801	12,004		1,801
4750-LV Charges Costs	101,509		15,226	219,402		32,910
Sub-T		_	1,414,591	9,058,296	. 5 / 5	1,358,744
	<del></del>					
WORKING CAPITAL ALLOWANCE T	OTAL		1,655,949			1,600,102

#### COST OF CAPITAL and CAPITAL STRUCTURE

Rideau St. Lawrence has revised its Capital Structure in accordance with the Board's Decision dated May 6, 2008. The direction given was that RSL rates are to be based on a deemed capital structure of 53.3% debt (49.3% long term; 4% short term) and 46.7% equity.

The following tables have been extracted from the model to indicate the required changes has taken place in the rate model being used by RSL resulting in a Regulated Return on Capital of 6.64%: This is consistent with the Board's conclusions for RSL's deemed capital structure and cost of capital contained in the Board's May 6, 2008, Decision.

#### Submitted November 22, 2007:

Test Year Balances, Fixed Assets in Service:					
Opening Balance	3,737,117				
Closing Balance	3,830,700				
Average Balance		3,783,909			
Working Capital Allowance		1,655,949			
Total Rate Base		5,439,857			
Regulated Rate of Return		6.83%			
Regulated Return On Capital		371,404			

#### **Boards Direction May 6, 2008:**

Opening Balance	3,496,780	
Closing Balance	3,860,025	
Average Balance	<del></del>	3,678,402
Working Capital Allowance		1,600,102
Total Rate Base		5,278,504
Regulated Rate of Return		6.64%
Regulated Return On Capital		350,475

#### REVENUE REQUIREMENT

The changes on the previous pages have resulted in changes to the Service Revenue Requirement and subsequent Base Revenue Requirement.

The following tables provide the original submitted revenue requirement and the revised amounts:

#### Submitted November 22, 2007:

Service Revenue Requirement	2,267,241	-
Less: Revenue Offsets	-251,850	
Base Revenue Requirement		2,015,392
Directly Allocated CDM		0
Outstanding Base Revenue Requir	rement	2,015,392

#### Includes Adjustments for Boards Direction May 6, 2008:

Service Revenue Requirement	2,223,838	
Less: Revenue Offsets	-251,850	
Base Revenue Requirement		1,971,988
Directly Allocated CDM		0
Outstanding Base Revenue Requi	rement	1,971,988

PILS net change – Tax rate reduction and lower Income

#### Service Revenue Requirement:

	(+,,-,-,
Rate of Return	(20,929)
Reduction in Amortization Expense (1/2 Yr Rule)	(14,663)
Total Reduction in Base Revenue Requirement	\$(43,404)

#### Submitted November 22, 2007:

Outstanding Base Revenue Requirement	\$2,015,392
Total reductions per Board Decision	(43,404)

(\$7.812)

#### **COST ALLOCATION AND RATE DESIGN**

The Cost Allocation and Rate Design section of the Decision issued by the Board dealt with the following issues:

- Line Losses
- Low Voltage Costs
- Customer Reclassification
- Revenue to Cost Ratios
- Rate Design
- Retail Transmission Rates

#### Line Losses

Rideau St. Lawrence has revised its Loss Factor to use a three year average which results in a Distribution Loss Factor of 1.0716 and a Total Loss Factor of 1.0764, as per the Decision.

#### **Low Voltage Costs**

LV costs have been adjusted from \$101,509 to \$219,402 as per the Decision. These additional costs have been included and can be seen in the Working Capital section of this document.

#### **Customer Reclassification**

The Westport Sewage Treatment Class has been eliminated and that customer reclassified to the GS>50kW class. RSL's original evidence included the elimination of this class and reclassification of the single customer to the GS > 50kW class. No further changes were required.

#### **Revenue to Cost Ratios**

Street Light Revenue to Cost ratio has been increased to 56% from of the previously submitted ratio of 49.84% as directed by the Board.

As directed by the Board, the additional revenue from the increase to the Street Lighting class RSL has been used to reduce the revenue collected from the Residential and GS>50kW classes. This adjustment has been calculated on a proportionate basis of revenue prior to the adjustment to achieve a 56% R/C ratio for the Street Light class.

The following table provides the Revenue to Cost ratios for all classes:

## Original -Submitted November 22, 2008 RATE APPLICATION

	2008 Base Revenue @ 100% Rev/Cost Ratio per cost allocation model	Proposed Proportion of Revenue	Base Revenue Requirement @ Proposed Proportions	Over /(Under) Contributing	Proposed Revenue/C ost Ratio
	1,119,818	57.23%	1,153,409	33,591	103.00%
	441,202	20.00%	403,078	(38,124)	91.36%
	323,770	19.10%	384,940	61,170	118.89%
	113,228	2.80%	56,431	(56,797)	49.84%
	3,804	0.15%	3,023	(781)	79.47%
	13,570	0.72%	14,511	941	106.93%
2007	2,015,392	100.00%	2,015,392	0	

## Revised: Adjusted for Boards Direction May 6, 2008 RATE APPLICATION

	2008 Base Revenue @ 100% Rev/Cost Ratio per cost allocation model	Proposed Proportion of Revenue	Base Revenue Requirement @ Proposed Proportions	Over /(Under) Contributing	Proposed Revenue/C ost Ratio
	1,095,701	56.971%	1,123,461	27,760	102.53%
	431,700	20.000%	394,398	(37,303)	91.36%
	316,797	19.013%	374,934	58,137	118.35%
	110,789	3.146%	62,039	(48,751)	56.00%
	3,722	0.150%	2,958	(764)	79.47%
	13,278	0.720%	14,198	920	106.93%
2008:	1,971,988	100.000%	1,971,988	0	

#### Rate Design:

RSL was directed to adjust the model by eliminating the smart meter adder, LV charges and transformation allowance from the 2007 rates to achieve a consistent split.

## Fixed Variable Rate Design:

#### Fixed / Variable Split per 2007 Rates

	TOTAL	Residential	GS < 50KW	GS > 50KW	Street Lighting	Sentinel Lighting	Unmetered Scattered Load
Metric for variable rate		kWh	kWh	kW	kW	kW	kWh
Volume		45,379,623	24,085,319	132,103	3,875	279	304,493
Variable rate		\$0.0107	\$0.0051	\$1.6678	\$4.7001	\$4.8396	\$0.0356
Total proceeds from variable charges	859,122	485,562	122,835	220,321	18,215	1,349	10,840
less: LV charges	163,562	64,075	30,903	66,743	1,470	118	252
less: Transformer Allowance recoveries	19,363	11,745	2,557	4,267	465	34	295
Net Revenues from variable charges	676,196	409,742	89,375	149,311	16,279	1,197	10,293
Metric for fixed monthly rate		Customer	Customer	Customer	Connection	Connection	Customer
Volume		4,972	778	64	1,653	34	48
Fixed rate		\$8.78	\$13.36	\$273.58	\$1.17	\$0.62	\$7.80
Total proceeds from fixed charges	886,567	523,850	124,649	210,109	23,210	255	4,493
less: Smart Meter rate adder \$0.26	18,138	15,513	2,426	200			· ·
less: LV charges	0	0	0	0	0	0	0
less: Transformer Allowance recoveries	24,138	14,123	3,406	5,832	645	7	125
Net Revenue from fixed charge	844,291	494,214	118,817	204,078	22,565	248	4,368
Net Distribution Revenue	1,520,487	903,956	208,192	353,389	38,845	1,445	14,661
% variable	, ,	45.33%	42.93%	42.25%	41.91%	82.85%	70.21%
% fixed		54.67%	57.07%	57.75%	58.09%	17.15%	29.79%
2008 Revenue Requirement							
Net Distribution Revenue	1,972,043	1,123,492	394,409	374,944	62,040	2,958	14,199
Net Revenues from variable charges	875,406	509,253	169,315	158,418	26,000	2,451	9,969
Net Revenue from fixed charge	1,096,637	614,240	225,093	216,526	36,040	507	4,230
Variable Rate (before LV / Transf. Allow.)		\$0.0112	\$0.0070	\$1.1992	\$6.7090	\$8.7917	\$0.0327
Fixed Rate (before Smart Meters)		\$10.29	\$24.13	\$281.94	\$1.82	\$1.23	\$7.34

Customer Class	Per Cost Al	location	Existing Fixed/Variable Split Application			Application			
	Minimum	Maximum	Existing Rate	with new Rev. Req	Proposed Fixed Rate	* Resulting Usage Rate	per	Fixed %	Variable %
Residential	\$3.77	\$9.45	\$8.78	\$9.77	\$10.29	0.0112	kWh	54.67%	45.33%
GS < 50KW	\$10.74	\$20.81	\$13.36	\$21.29	\$24.12	0.0070	kWh	57.07%	42.93%
GS > 50KW	\$37.08	\$70.18	\$273.58	\$238.31	\$281.93	1,1992	kW	57.75%	42.25%
Street Lighting	\$0.27	\$4.93	\$1.17	\$1.75	\$1.82	6.7088	kW	58.09%	41.91%
Sentinel Lighting	\$0.19	\$4.76	\$0.62	\$1.14	\$1.23	8.7914	kW	17.15%	82.85%
Unmetered Scattered Load	\$7.99	\$14.32	\$7.80	\$7.22	\$7.34	0.0327	kWh	29.79%	70.21%

#### **Retail Transmission Rates**

RSL's proposal to decrease its Network and Connection Rates by an 11.4% and 7.6% respectively, was accepted by the Board.

As discussed earlier in the Working Capital section of this document RSL had proposed decreasing the Network and Connection charges from Hydro One based on their application. This results in an 11.4% decrease in the Network rates and a 7.6% decrease in Connection rates to RSL customers. The rate changes are reflected in the Draft Rate Order which accompanies this document.

		Network			Connection	on
01 N	Existing	Proposed	%	Existing	Proposed	%
ClassName	Rate 2007	Rate 2008	Change	Rate 2007	Rate 2008	Change
Residential	0.0054	0.0048	-11.4%	0.0049	0.0045	-7.6%
GS <50 kW	0.0049	0.0043	-11.4%	0.0044	0.0041	-7.6%
Scattered Load	0.0049	0.0043	-11.4%	0.0044	0.0041	-7.6%
GS 50 to 4999 kW	2.0169	1.7870	-11.4%	1.7588	1.6251	-7.6%
GS > 50 kw Interval	2.2535	1.9966	-11.4%	1.9603	1.8113	-7.6%
Sentinel Lighting	1.5288	1.3545	-11.4%	1.3881	1.2826	-7.6%
Street Lighting	1.5211	1.3477	-11.4%	1.3597	1.2564	-7.6%

#### **DEFERRAL AND VARIANCE ACCOUNTS**

Rideau St. Lawrence has adjusted their calculation for the disposition of their deferral and variance accounts in accordance with the Boards' Decision.

RSL will dispose of accounts 1508 and 1550 over a 2 year period. All other deferral and variance accounts will be addressed at a later date.

The rate rider for the recovery of these two accounts are included in the Draft Rate Order and the calculation is provided below:

Account Number	Dec 31/06 Balance	Apr 30/08 Balance	Allocation Basis	Residential	GS < 50 KW	GS > 50 KW	Unmetered Scattered Load	Sentinel Lighting	Street Lighting
1508	13,019	13,776	KWh	5,264	2,794	5,512	35	12	158
1550	46,689	49,547	KWh	18,933	10,049	19,827	127	42	570
Apr30/08	59,709	63,323		24,197	12,842	25,339	162	54	728
				24,197	12,842	25,339	162	54	728
2 YEARS				12,098	6,421	12,670	81	27	364
				0.00027 kWh	0.00027 kWh	0.09591 kW	<b>0.00027</b> kWh	0.09635 kW	0.09400 kW

#### **SMART METERS**

Rideau St. Lawrence has included \$0.26 per metered customer per month in the Service Charge, in its Draft Rate Order as directed in the Boards Decision.

### RECONCILLIATION OF RATE CLASS REVENUE TO TOTAL REVENUE REQUIREMENT

Rate Class	Number of Customer Connections	Volume kWh	Volume kW	Proposed Fixed Charge \$	Proposed Volumetric Charge	Proposed Revenue at Proposed Rates
Residential	4,972	45,379,623		10.55	0.0136	\$1,245,846
General Service <50kW	778	24,085,319		24.38	0.009	\$444,380
General Service 50kW to 4,999kW	64	47,522,972	132,103	282.19	1.9401	\$473,015
Unmetered Scattered Load	48	304,493		7.34	0.0353	\$14,976
Sentinel Lighting	34	100,826	279	1.23	9.5217	\$3,158
Street Lighting (Connections)	1,653	1,366,231	3,875	1.82	7.5007	\$65,167
Totals	7,549	118,759,464	136,257			\$2,246,542

Base Revenue	
Requirement	\$1,971,988
Transformer Allowance	\$37,012
Low voltage	\$219,402
Service Revenue Requirement	\$2,228,402

	#meters	Mths	Rate	
Smart Meters	5,814	12	0.26	\$18,140
	Grand tot	al		\$2,246,542

## RIDEAU ST. LAWRENCE DISTRIBUTION INC. TARIFF OF RATES AND CHARGES

This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

#### **APPLICATION**

The application of these rates and charges shall be in accordance with the License of the Distributor and any Codes, Guidelines or Orders of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's License or a Code, Guideline or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

This schedule does not contain any rates and charges relating to the electricity commodity (e.g. the Regulated Price Plan).

#### **EFFECTIVE DATES**

DISTRIBUTION RATES – (Date to be determined) 2008 for all consumption or deemed consumption service used on or after that date.

SPECIFIC SERVICE CHARGES – 2008 for all charges incurred by customers on or after that date. LOSS FACTOR ADJUSTMENT – (Date to be determined) 2008 unless the distributor is not capable of

prorating changed loss factors jointly with distribution rates. In that case, the revised loss factors will be implemented upon the first subsequent billing for each billing cycle.

#### Service Classifications

#### Residential

This classification applies to an account taking electricity at 750 volts or less where the electricity is used exclusively in a separate metered living accommodation. Customers shall be residing in single-dwelling units that consist of a detached house or one unit of a semi-detached, duplex, triplex or quadruplex house, with a residential zoning. Separately metered dwellings within a town house complex or apartment building also qualify as residential customers.

#### General Service Less Than 50 kW

This classification applies to a non residential account taking electricity at 750 volts or less whose average monthly demand is less than, or is forecast to be less than, 50 kW.

#### General Service 50 to 4999kW

This classification applies to a non residential account whose average monthly maximum demand used for billing purposes is equal to or greater than, or is forecast to be equal to or greater than, 50 kW but less than 5,000 kW.

**UOM** 

Rate

#### Unmetered Scattered Load

This classification applies to an account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW and the consumption is unmetered. Such connections include cable TV power packs, bus shelters, telephone booths, traffic lights, railway crossings, etc. The level of the consumption will be agreed to by the distributor and the customer, based on detailed manufacturer information/documentation with regard to electrical consumption of the unmetered load or periodic monitoring of actual consumption.

#### Sentinel Lights

This classification refers to accounts that are an unmetered lighting load supplied to a sentinel light.

#### Street Lighting

Residential

This classification applies to an account for roadway lighting with a Municipality, Regional Municipality, Ministry of Transportation and private roadway lighting, controlled by photo cells. The consumption for these customers will be based on the calculated connected load times and the required lighting times established in the approved OEB street lighting load shape template.

Rates proposed below include a smart meter rate adder of \$0.26 per month per metered customer.

#### **Table of Proposed Rates**

<u>17</u>	esidential	OOM	Nate
	Service Charge	\$	10.55
	Distribution Volumetric Rate	\$/kWh	0.01360
	Regulatory Asset Recovery	\$/kWh	0.00027
	Retail Transmission Rate - Network Service Rate	\$/kWh	0.0048
	Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kWh	0.0045
	Wholesale Market Service Rate	\$/kWh	0.0052
	Rural Rate Protection Charge	\$/kWh	0.001
	Regulated Price Plan – Administration Charge	\$	0.25
<u>G</u>	eneral Service <50 kW Service Charge	\$	24.38
	Service Charge	\$	24.38
	Distribution Volumetric Rate	\$/kWh	0.0090
	Regulatory Asset Recovery	\$/kWh	0.00027
	Retail Transmission Rate – Network Service Rate	\$/kWh	0.0043
	Retail Transmission Rate - Line and Transformation Connection Service Rate	\$/kWh	0.0041
	Wholesale Market Service Rate	\$/kWh	0.0052
	Rural Rate Protection Charge	\$/kWh	0.001
	Regulated Price Plan – Administration Charge	\$	0.25

General Service >50 to 4999 kW		
Service Charge	\$	282.19
Distribution Volumetric Rate	\$/kW	1.9401
Regulatory Asset Recovery	\$/kW	0.09591
Retail Transmission Rate - Network Service Rate	\$/kW	1.7870
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.6251
Retail Transmission Rate – Network Service Rate - Interval Metered	\$/kW	1.9966
Retail Transmission Rate – Network Service Rate - Interval Metered	\$/kW	1.8113
Wholesale Market Service Rate	\$/kWh	0.0052
	\$/kWh	0.0052
Rural Rate Protection Charge	\$/KVVII \$	0.0010
Standard Supply Service – Administration Charge	Ψ	0.23
Unmetered Scattered Load		
Service Charge	\$	7.34
Distribution Volumetric Rate	\$/kWh	0.03530
Regulatory Asset Recovery	\$/kWh	0.00027
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0043
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kWh	0.0041
Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0010
Regulated Price Plan – Administration Charge	\$	0.25
Sentinel Lighting		
Service Charge	\$	1.23
Distribution Volumetric Rate	\$/kW	9.5217
Regulatory Asset Recovery	\$/kW	0.09635
Retail Transmission Rate – Network Service Rate	\$/kW	1.35450
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.28260
Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0010
Regulated Price Plan – Administration Charge	\$	0.25
Street Lighting		
Service Charge	\$	1.82
Distribution Volumetric Rate	\$/kW	7.50070
Regulatory Asset Recovery	\$/kW	0.09400
Retail Transmission Rate - Network Service Rate	\$/kW	1.34770
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.25640
Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0010
Regulated Price Plan – Administration Charge	\$	0.25

## RIDEAU ST. LAWRENCE DISTRIBUTION INC. TARIFF OF RATES AND CHARGES

This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

## **Specific Service Charges**

Arrears certificate	Customer Administration	
Statement of account   Pulling postdated cheques   \$15.00     Pulling postdated cheques   \$15.00     Request for other billing information   \$15.00     Request for other billing information   \$15.00     Easement letter   \$15.00     Income tax letter   \$15.00     Income tax letter   \$15.00     Notification charge   \$15.00     Account history   \$15.00     Credit reference/credit check (plus credit agency costs)   \$15.00     Returned cheque charge (plus bank charges)   \$15.00     Returned cheque charge (plus bank charges)   \$15.00     Charge to certify cheque   \$15.00     Legal letter charge   \$15.00     Account set up charge/change of occupancy charge (plus credit agency costs if applicable)   \$30.00     Special meter reads   \$15.00     Late Payment – per month   \$1.50%     Late Payment – per month   \$1.50%     Late Payment – per annum   \$19.56%     Collection of account charge - no disconnection   \$30.00     Collection of account charge - no disconnection   \$165.00     Disconnect/Reconnect at meter - during regular hours   \$165.00     Disconnect/Reconnect at meter - after regular hours   \$185.00     Disconnect/Reconnect at meter - after regular hours   \$185.00     Disconnect/Reconnect at pole - during regular hours   \$185.00     Disconnect/Reconnect at pole - during regular hours   \$185.00     Service call - after regular hours   \$165.00     Install/Remove load control device - after regular hours   \$185.00     Temporary service install & remove - overhead - no transformer   \$300.00     Temporary service install & remove - overhead - no transformer   \$300.00     Temporary service install & remove - overhead - no transformer   \$300.00     Temporary service install & remove - overhead - with transformer   \$300.00     Temporary service install & remove - overhead - with transformer   \$300.00     Temporary service install & remove - overhead - with transformer   \$300.00     Temporary	Arrears certificate	\$15.00
Duplicate invoices for previous billing Request for other billing information Easement letter Income tax letter S15,00 Notification charge Account history Credit reference/credit check (plus credit agency costs) Returned cheque charge (plus bank charges) Charge to certify cheque Legal letter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account act up charge plus Measurement Canada fees (if meter found correct) Special meter reads  Non-Payment of Account  Late Payment – per month Late Payment – per annum Collection of account charge - no disconnection Collection of account charge - no disconnection Collection of account charge - no disconnection Disconnect/Reconnect at meter - after regular hours Special meter - after regular hours Special meter - after regular hours Install/Remonel oad control device - after regular hours Install/Remove load control device - after regular hours Install/	Statement of account	\$15.00
Request for other billing information   \$15.00	Pulling postdated cheques	\$15.00
Easement letter \$15.00 Income tax letter \$15.00 Notification charge \$15.00 Notification charge \$15.00 Account history \$15.00 Credit reference/credit check (plus credit agency costs) \$15.00 Returned cheque charge (plus bank charges) \$15.00 Returned cheque charge (plus bank charges) \$15.00 Charge to certify cheque \$15.00 Legal fetter charge \$15.00 Account set up charge/change of occupancy charge (plus credit agency costs if applicable) \$30.00 Meter dispute charge plus Measurement Canada fees (if meter found correct) \$30.00 Special meter reads \$30.00 Non-Payment of Account Late Payment – per month \$1.50% Late Payment – per annum \$19.56% Collection of account charge - no disconnection \$30.00 Collection of account charge - no disconnection - after regular hours \$165.00 Disconnect/Reconnect at meter - during regular hours \$165.00 Disconnect/Reconnect at meter - during regular hours \$185.00 Disconnect/Reconnect at pole - after regular hours \$185.00 Service call - after regular hours \$185.00 Service call - after regular hours \$185.00 Install/Remove load control device - during regular hours \$185.00 Install/Remove load control device - after regular hours \$165.00 Temporary service install & remove - overhead - no transformer \$500.00 Temporary service install & remove - overhead - no transformer \$500.00 Temporary service install & remove - overhead - no transformer \$300.00 Specific Charge for Access to the Power Poles per/pole/year \$22.35	Duplicate invoices for previous billing	\$15.00
Income tax letter  Notification charge  Account history  Credit reference/credit check (plus credit agency costs)  Returned cheque charge (plus bank charges)  Charge to certify cheque  Legal letter charge  Account set up charge/change of occupancy charge (plus credit agency costs if applicable)  Account set up charge plus Measurement Canada fees (if meter found correct)  Sao.00  Special meter reads  Non-Payment of Account  Late Payment – per month  Late Payment – per annum  Collection of account charge - no disconnection  Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - during regular hours  Service call - customer-owned equipment  Service call - customer-owned equipment  Service call - after regular hours  Install/Remove load control device - during regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - overhead - no transformer  Specific Charge for Access to the Power Poles per/pole/year  Alliowances  Transformer Allowance for Ownership – per kW of billing demand/month  \$kWW (0.60)	Request for other billing information	\$15.00
Notification charge Account history S15.00 Account history Credit reference/credit check (plus credit agency costs) Returned cheque charge (plus bank charges) Charge to certify cheque Legal letter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) S30.00 Meter dispute charge plus Measurement Canada fees (if meter found correct) S30.00 Special meter reads S30.00 Non-Payment of Account Late Payment – per month Late Payment – per annum Collection of account charge - no disconnection Collection of account charge - no disconnection - after regular hours Disconnect/Reconnect at meter - during regular hours Disconnect/Reconnect at meter - after regular hours S185.00 Disconnect/Reconnect at pole - during regular hours Service call - customer-owned equipment S30.00 Service call - after regular hours Service call - after regular hours Temporary service install & remove - overhead - no transformer S500.00 Temporary service install & remove - overhead - no transformer S500.00 Temporary service install & remove - overhead - no transformer S500.00 Specific Charge for Access to the Power Poles per/pole/year  X/W (0.60)	Easement letter	\$15.00
Account history Credit reference/credit check (plus credit agency costs) Returned cheque charge (plus bank charges) S15.00 Charge to certify cheque Legal letter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/change of occupancy costs if applicable) Account set up charge/charge occupancy as a position occupancy costs if applicable) Account set up charge/charge occupancy as a position occupancy costs if applicable) Account set up charge/charge occupancy as a position occupancy	Income tax letter	\$15.00
Credit reference/credit check (plus credit agency costs)  Returned cheque charge (plus bank charges)  Charge to certify cheque Legal letter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Account set up charge/change of occupancy charge (plus credit agency costs if applicable) Meter dispute charge plus Measurement Canada fees (if meter found correct) Special meter reads  Non-Payment of Account  Late Payment – per month Late Payment – per annum Collection of account charge - no disconnection Signor Collection of account charge - no disconnection - after regular hours Disconnect/Reconnect at meter - during regular hours Disconnect/Reconnect at meter - after regular hours Disconnect/Reconnect at pole - during regular hours Service call - customer-owned equipment Service call - after regular hours Service call - after regular hours Install/Remove load control device - during regular hours Temporary service install & remove - overhead - no transformer Specific Charge for Access to the Power Poles per/pole/year  Allowances Transformer Allowance for Ownership – per kW of billing demand/month  Srkw (0.60)	Notification charge	\$15.00
Returned cheque charge (plus bank charges)  Charge to certify cheque  Legal letter charge  Account set up charge/change of occupancy charge (plus credit agency costs if applicable)  Sandon  Meter dispute charge plus Measurement Canada fees (if meter found correct)  Special meter reads  Non-Payment of Account  Late Payment – per month  Late Payment – per annum  Collection of account charge - no disconnection  Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Service call - customer-owned equipment  Service call - after regular hours  Install/Remove load control device - after regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  Srevice call - after regular for Ownership - per kW of billing demand/month  Srevice call - after regular for Ownership - per kW of billing demand/month	Account history	\$15.00
Charge to certify cheque Legal letter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) S30.00 Meter dispute charge plus Measurement Canada fees (if meter found correct) Special meter reads S30.00  Non-Payment of Account Late Payment – per month Late Payment – per annum Collection of account charge – no disconnection Collection of account charge – no disconnection – after regular hours Disconnect/Reconnect at meter – after regular hours Disconnect/Reconnect at meter – after regular hours S185.00 Disconnect/Reconnect at meter – after regular hours Service call – customer-owned equipment Service call – after regular hours	Credit reference/credit check (plus credit agency costs)	\$15.00
Legal fetter charge Account set up charge/change of occupancy charge (plus credit agency costs if applicable) \$30.00 Meter dispute charge plus Measurement Canada fees (if meter found correct) \$30.00 Special meter reads \$30.00  Non-Payment of Account  Late Payment – per month Late Payment – per annum 19.56% Collection of account charge - no disconnection \$30.00 Collection of account charge - no disconnection - after regular hours Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - during regular hours  Service call - customer-owned equipment \$30.00 Service call - after regular hours  Install/Remove load control device - during regular hours  Temporary service install & remove - overhead - no transformer \$50.00 Temporary service install & remove - overhead - with transformer \$30.00 Specific Charge for Access to the Power Poles per/poie/year  Allowances Transformer Allowance for Ownership – per kW of billing demand/month \$/kW (0.60)	Returned cheque charge (plus bank charges)	\$15.00
Account set up charge/change of occupancy charge (plus credit agency costs if applicable)  Meter dispute charge plus Measurement Canada fees (if meter found correct)  \$30.00  Special meter reads  \$30.00  Non-Payment of Account  Late Payment – per month  Late Payment – per annum  Collection of account charge - no disconnection  Solution of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Service call - customer-owned equipment  Service call - after regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  **KW* (0.60)	Charge to certify cheque	\$15.00
Meter dispute charge plus Measurement Canada fees (if meter found correct) Special meter reads  Non-Payment of Account  Late Payment – per month Late Payment – per annum Collection of account charge - no disconnection Collection of account charge - no disconnection Collection of account charge - no disconnection - after regular hours Disconnect/Reconnect at meter - during regular hours Disconnect/Reconnect at meter - after regular hours Disconnect/Reconnect at pole - during regular hours Disconnect/Reconnect at pole - during regular hours Service call - customer-owned equipment Service call - customer-owned equipment Service call - after regular hours Install/Remove load control device - during regular hours Install/Remove load control device - after regular hours Temporary service install & remove - overhead - no transformer Temporary service install & remove - overhead - with transformer Specific Charge for Access to the Power Poles per/pole/year  Allowances Transformer Allowance for Ownership – per kW of billing demand/month  \$(KW) (0.60)	Legal letter charge	\$15.00
Special meter reads \$30.00  Non-Payment of Account  Late Payment – per month 1.50%  Late Payment – per annum 19.56%  Collection of account charge – no disconnection \$30.00  Collection of account charge – no disconnection - after regular hours \$165.00  Disconnect/Reconnect at meter – during regular hours \$66.00  Disconnect/Reconnect at meter – after regular hours \$185.00  Disconnect/Reconnect at pole – during regular hours \$185.00  Disconnect/Reconnect at pole – after regular hours \$185.00  Disconnect/Reconnect at pole – after regular hours \$415.00  Service call – customer-owned equipment \$30.00  Service call – after regular hours \$165.00  Install/Remove load control device – during regular hours \$65.00  Install/Remove load control device – after regular hours \$185.00  Temporary service install & remove – overhead – no transformer \$500.00  Temporary service install & remove – underground – no transformer \$300.00  Temporary service install & remove – overhead – with transformer \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year \$22.35		\$30.00
Non-Payment of Account  Late Payment – per month Late Payment – per annum Collection of account charge – no disconnection S30.00 Collection of account charge – no disconnection – after regular hours Disconnect/Reconnect at meter – during regular hours Disconnect/Reconnect at meter – after regular hours Disconnect/Reconnect at meter – after regular hours Disconnect/Reconnect at pole – during regular hours Disconnect/Reconnect at pole – after regular hours Disconnect/Reconnect at pole – after regular hours Service call – customer-owned equipment Service call – customer-owned equipment Service call – after regular hours Install/Remove load control device – during regular hours Install/Remove load control device – after regular hours Temporary service install & remove – overhead – no transformer Temporary service install & remove – underground – no transformer Specific Charge for Access to the Power Poles per/pole/year  Allowances Transformer Allowance for Ownership – per kW of billing demand/month \$/kW (0.60)		\$30.00
Late Payment – per month  Late Payment – per annum  Collection of account charge - no disconnection  Collection of account charge - no disconnection  Saloon  Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - during regular hours  Service call - customer-owned equipment  Service call - customer-owned equipment  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership – per kW of billing demand/month  \$/kW (0.60)	Special meter reads	\$30.00
Late Payment – per annum  Collection of account charge - no disconnection  Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Temporary service install & remove - overhead - with transformer  \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership – per kW of billing demand/month  \$/kW (0.60)	Non-Payment of Account	
Collection of account charge - no disconnection  Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  \$30.00  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  \$300.00  Temporary service install & remove - overhead - with transformer  \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year  \$22.35  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Late Payment – per month	1.50%
Collection of account charge - no disconnection - after regular hours  Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  Service call - after regular hours  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Late Payment – per annum	19.56%
Disconnect/Reconnect at meter - during regular hours  Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  Service call - after regular hours  Service call - after regular hours  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Collection of account charge - no disconnection	\$30.00
Disconnect/Reconnect at meter - after regular hours  Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  Service call - after regular hours  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Collection of account charge - no disconnection - after regular hours	\$165.00
Disconnect/Reconnect at pole - during regular hours  Disconnect/Reconnect at pole - after regular hours  Service call - customer-owned equipment  Service call - after regular hours  Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Disconnect/Reconnect at meter - during regular hours	\$65.00
Disconnect/Reconnect at pole - after regular hours \$415.00  Service call - customer-owned equipment \$30.00  Service call - after regular hours \$165.00  Install/Remove load control device - during regular hours \$65.00  Install/Remove load control device - after regular hours \$185.00  Temporary service install & remove - overhead - no transformer \$500.00  Temporary service install & remove - underground - no transformer \$300.00  Temporary service install & remove - overhead - with transformer \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month \$/kW (0.60)	Disconnect/Reconnect at meter - after regular hours	\$185.00
Service call - customer-owned equipment \$30.00 Service call - after regular hours Install/Remove load control device - during regular hours Install/Remove load control device - after regular hours Install/Remove load control device - after regular hours Temporary service install & remove - overhead - no transformer Temporary service install & remove - underground - no transformer Temporary service install & remove - overhead - with transformer Specific Charge for Access to the Power Poles per/pole/year  Allowances Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Disconnect/Reconnect at pole - during regular hours	\$185.00
Service call - after regular hours  Install/Remove load control device - during regular hours  Install/Remove load control device - after regular hours  Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  Temporary service install & remove - underground - no transformer  Temporary service install & remove - overhead - with transformer  Specific Charge for Access to the Power Poles per/pole/year  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Disconnect/Reconnect at pole - after regular hours	\$415.00
Install/Remove load control device - during regular hours \$65.00 Install/Remove load control device - after regular hours \$185.00 Temporary service install & remove - overhead - no transformer \$500.00 Temporary service install & remove - underground - no transformer \$300.00 Temporary service install & remove - overhead - with transformer \$1,000.00 Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances Transformer Allowance for Ownership - per kW of billing demand/month \$/kW (0.60)	Service call - customer-owned equipment	\$30.00
Install/Remove load control device - after regular hours  Temporary service install & remove - overhead - no transformer  \$500.00  Temporary service install & remove - underground - no transformer  \$300.00  Temporary service install & remove - overhead - with transformer  \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year  \$22.35  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month  \$/kW (0.60)	Service call - after regular hours	\$165.00
Temporary service install & remove - overhead - no transformer \$500.00 Temporary service install & remove - underground - no transformer \$300.00 Temporary service install & remove - overhead - with transformer \$1,000.00 Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances Transformer Allowance for Ownership - per kW of billing demand/month \$/kW (0.60)	Install/Remove load control device - during regular hours	\$65.00
Temporary service install & remove - underground - no transformer \$300.00  Temporary service install & remove - overhead - with transformer \$1,000.00  Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances  Transformer Allowance for Ownership - per kW of billing demand/month \$/kW (0.60)	Install/Remove load control device - after regular hours	\$185.00
Temporary service install & remove - overhead - with transformer \$1,000.00 Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances Transformer Allowance for Ownership - per kW of billing demand/month \$/kW (0.60)	Temporary service install & remove - overhead - no transformer	\$500.00
Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances  Transformer Allowance for Ownership – per kW of billing demand/month \$/kW (0.60)	Temporary service install & remove - underground - no transformer	\$300.00
Specific Charge for Access to the Power Poles per/pole/year \$22.35  Allowances  Transformer Allowance for Ownership – per kW of billing demand/month \$/kW (0.60)	Temporary service install & remove - overhead - with transformer	\$1,000.00
Transformer Allowance for Ownership – per kW of billing demand/month \$/kW (0.60)	Specific Charge for Access to the Power Poles per/pole/year	
7. The state of th	Allowances	
	Transformer Allowance for Ownership - per kW of billing demand/month	\$/kW (0.60)
	Primary Metering Allowance for transformer losses – applied to measured demand and energy	• •

## **Loss Factors**

Total Loss Factor - Secondary Metered Customer > 5,000kW	1.0764
Total Loss Factor - Secondary Metered Customer > 5,000kW	N/A
Total Loss Factor - Primary Metered Customer < 5,000kW	1.0657
Total Loss Factor - Primary Metered Customer > 5,000kW	N/A

#### **BILL IMPACTS**

kWh Consumption

	Metric	2007 BILL				2008 BILL			IMPACT	
		Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge		_		8.78			10.55	1.77	20.2%	9.4%
Distribution	kWh	100	0.01070	1.07	100	0.01360	1.36	0.29	27.1%	1.5%
Sub-Total	Г			9.85			11.91	2.06	20.9%	10.9%
Regulatory Asset Recovery	kWh	100	0.00640	0.64	100	0.00027	0.03	-0.61	-95.8%	-3.3%
Retail Transmission - Network	kWh	108	0.00540	0.58	108	0.00480	0.52	-0.07	-11.2%	-0.3%
Retail Transmission - Connection	kWh	108	0.00490	0.53	108	0.00450	0.48	-0.04	-8.2%	-0.2%
Wholesale Market Service	kWh	108	0.00520	0.56	108	0.00520	0.56	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	108	0.00100	0.11	108	0.00100	0.11	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	100	0.00700	0.70	100	0.00700	0.70	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	108	0.05450	5.87	108	0.05450	5.87	-0.00	-0.1%	0.0%
Total Bill				18.84			20.17	1.33	7.1%	7.1%

Residential 250 kWh Consumption

		2007 BILL				2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volums	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78			10.55	1.77	20.2%	5.2%
Distribution	kWh	250	0.01070	2.68	250	0.01360	3.40	0.73	27.1%	2.1%
Sub-Total				11.46			13.95	2.50	21.8%	7.4%
Regulatory Asset Recovery	kWh	250	0.00640	1.60	250	0.00027	0.07	-1.53	-95.8%	-4.5%
Retail Transmission - Network	kWh	269	0.00540	1.45	269	0.00480	1.29	-0.16	-11.2%	-0.5%
Retail Transmission - Connection	kWh	269	0.00490	1.32	269	0.00450	1.21	-0.11	-8.2%	-0.3%
Wholesale Market Service	kWh	269	0.00520	1.40	269	0.00520	1.40	-0.00	-0.1%	0.0%
Rural Rate Protection Charga	kWh	269	0.00100	0.27	269	0.00100	0.27	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	250	0.00700	1.75	250	0.00700	1.75	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	269	0.05450	14.68	269	0.05450	14.67	-0.01	-0.1%	0.0%
Total Bill				33.93			34.60	0.68	2.0%	2.0%

Residential 500 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total
Monthly Service Charge	1			8.78			10.55	1.77	20.2%	3.0%
Distribution	kWh	500	0.01070	5.35	500	0.01360	6.80	1.45	27.1%	2.5%
Sub-Total				14.13			17.35	3.22	22.8%	5.5%
Regulatory Asset Recovery	kWh	500	0.00640	3.20	500	0.00027	0.14	-3.07	-95.8%	-5.2%
Retail Transmission - Network	kWh	539	0.00540	2.91	538	0.00480	2.58	-0.33	-11.2%	-0.6%
Retail Transmission - Connection	kWh	539	0.00490	2.64	538	0.00450	2.42	-0.22	-8.2%	-0.4%
Wholesale Market Service	kWh	539	0.00520	2.80	538	0.00520	2.80	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	539	0.00100	0.54	538	0.00100	0.54	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	500	0.00700	3.50	500	0.00700	3.50	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	539	0.05450	29.35	538	0.05450	29.33	-0.02	-0.1%	0.0%
Total Bill				59.07	1		58.66	-0.41	-0.7%	-0.7%

Realdential 750 kWh Consumption

			2007 BILL	_		2008 BILL			MPACT	
	Metric	Volume	Rate \$	Charge \$_	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78	1		10.55	1.77	20.2%	2.1%
Distribution	kWh	750	0.01070	8.03	750	0.01360	_ 10.20	2.18	27.1%	2.6%
Sub-Total				16.81			20.75	3.95	23.5%	4.7%
Regulatory Asset Recovery	kWh	750	0.00640	4.80	750	0.00027	0.20	-4.60	-95.8%	-5.5%
Retail Transmission - Network	kWh	808	0.00540	4.36	807	0.00480	3.88	-0.49	-11.2%	-0.6%
Retail Transmission - Connection	kWh	808	0.00490	3.96	807	0.00450	3.63	-0.33	-8.2%	-0.4%
Wholesale Market Service	kWh	808	0.00520	4.20	807	0.00520	4.20	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	808	0.00100	0.81	807	0.00100	0.81	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	750	0.00700	5.25	750	0.00700	5.25	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	808	0.05450	44.03	807	0.05450	44.00	-0.03	-0.1%	0.0%
Total Bill				84.22			82.71	-1.50	-1.8%	-1.8%

Realdential 1,000 kWh Consumption

			2007 BILL			2008 BILL	_		IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78			10.55	1.77	20.2%	1.6%
Distribution	kWh	1,000	0.01070	10.70	1,000	0.01360	13.60	2.90	27.1%	2.7%
Sub-Total				19.48			24.15	4.67	24.0%	4.3%
Regulatory Asset Recovery	kWh	1,000	0.00640	6.40	1,000	0.00027	0.27	-6.13	-95.8%	-5.6%
Retail Transmission - Network	kWh	1,077	0.00540	5.82	1,076	0.00480	5.17	-0.65	-11.2%	-0.6%
Retail Transmission - Connection	kW h	1,077	0.00490	5.28	1,076	0.00450	4.84	-0.43	-8.2%	-0.4%
Wholesale Market Service	kWh	1,077	0.00520	5.60	1,076	0.00520	5.60	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	1,077	0.00100	1.08	1,076	0.00100	1.08	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	1,000	0.00700	7.00	1,000	0.00700	7.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	1,077	0.05450	58.71	1,076	0.05450	58.66	-0.04	-0.1% _	0.0%
Total Bill				109.36			106.77	-2.59	-2.4%	-2.4%

GS < 50KW 1,500 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	7.3%
Distribution	kWh	1,500	0.00510	7.65	1,500	0.00900	13.50	5.85	76.5%	3.9%
Sub-Total				21.01			37.88	16.87	80.3%	11.2%
Regulatory Asset Recovery	kWh	1,500	0.00430	6.45	1,500	0.00027	0.41	-6.05	-93.7%	-4.0%
Retail Transmission - Network	kWh	1,616	0.00490	7.92	1,615	0.00430	6.94	-0.97	-12.3%	-0.6%
Retail Transmission - Connection	kWh	1,616	0.00440	7.11	1,615	0.00410	6.62	-0.49	-6.9%	-0.3%
Wholesale Market Service	kWh	1,616	0.00520	8.40	1,615	0.00520	8.40	-0.01	-0.1%	0.0%
Rural Rate Protection Charge	kWh	1,616	0.00100	1.62	1,615	0.00100	1.61	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	1,500	0.00700	10.50	1,500	0.00700	10.50	0.00	0.0%	0.0%
Cost of Power Commodity	_ kWh	1,616	0.05450	88.06	1,615	0.05450	00.88	-0.07	-0.1%	0.0%
Total Bill				151.07			160.35	9.29	6.1%	6.1%

GS < 50KW 2,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	_
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	5.6%
Distribution	kWh	2,000	0.00510	10.20	2,000	0.00900	18.00	7.80	76.5%	4.0%
Sub-Total				23.56			42.38	18.82	79.9%	9.6%
Regulatory Asset Recovery	kWh	2,000	0.00430	8.60	2,000	0.00027	0.54	-8.06	-93.7%	-4.1%
Retail Transmission - Network	kWh	2,154	0.00490	10.56	2,153	0.00430	9.26	-1.30	-12.3%	-0.7%
Retail Transmission - Connection	kWh	2,154	0.00440	9.48	2,153	0.00410	8.83	-0.65	-6.9%	-0.3%
Wholesale Market Service	kWh	2,154	0.00520	11.20	2,153	0.00520	11.19	-0.01	-0.1%	0.0%
Rural Rate Protection Charge	kWh	2,154	0.00100	2.15	2,153	0.00100	2.15	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	2,000	0.00700	14.00	2,000	0.00700	14.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	2.154	0.05450	117.41	2,153	0.05450	117.33	-0.09	-0.1%	0.0%
Total Bill				196.97			205.68	8.71	4.4%	4.4%

GS < 50KW 5,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total
Monthly Service Charge				13.36		<u> </u>	24.38	11.02	82.5%	2.3%
Distribution	kWh	5,000	0.00510	25.50	5,000	0.00900	45.00	19.50	76.5%	4.1%
Sub-Total				38.86			69.38	30.52	78.5%	6.5%
Regulatory Asset Recovery	kWh	5,000	0.00430	21.50	5,000	0.00027	1.35	-20.15	-93.7%	-4.3%
Retail Transmission - Network	kWh	5,386	0.00490	26.39	5,382	0.00430	23.14	-3.25	-12.3%	-0.7%
Retail Transmission - Connection	kWh	5,386	0.00440	23.70	5,382	0.00410	22.07	-1.63	-6.9%	-0.3%
Wholesale Market Service	kWh	5,386	0.00520	28.01	5,382	0.00520	27.99	-0.02	-0.1%	0.0%
Rural Rate Protection Charge	kWh	5,386	0.00100	5.39	5,382	0.00100	5.38	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	5,000	0.00700	35.00	5,000	0.00700	35.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	5,386	0.05450	293.54	5,382	0.05450	293.32	-0.22	-0.1%	0.0%
Total Bill				472.38			477.63	5.25	1.1%	1.1%

GS < 50KW 10,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	1.2%
Distribution	kWh	10,000	0.00510	51.00	10,000	0.00900	90.00	39.00	76.5%	4.2%
Sub-Total				64.36			114.38	50.02	77.7%	5.4%
Regulatory Asset Recovery	kWh	10,000	0.00430	43.00	10,000	0.00027	2.70	-40.30	-93.7%	-4.3%
Retail Transmission - Network	kWh	10,772	0.00490	52.78	10,764	0.00430	46.29	-6.50	-12.3%	-0.7%
Retail Transmission - Connection	kWh	10,772	0.00440	47.40	10,764	0.00410	44.13	-3.26	-6.9%	-0.4%
Wholesale Market Service	kWh	10,772	0.00520	56.01	10,764	0.00520	55.97	-0.04	-0.1%	0.0%
Rural Rate Protection Charge	kWh	10,772	0.00100	10.77	10,764	0.00100	10.76	-0.01	-0.1%	0.0%
Debt Retirement Charge	kWh	10,000	0.00700	70.00	10,000	0.00700	70.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	10,772	0.05450	587.07	10,764	0.05450	586.64	-0.44	-0.1%	0.0%
Total Bill				931.40			930.87	-0.53	-0.1%	-0.1%

GS > 50KW 60 kW Consumption 15,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				273.58			282.19	8.61	3.1%	0.5%
Distribution	kW	60	1.66780	100.07	60	1.94010	116.41	16.34	16.3%	0.9%
Sub-Total				373.65			398.60	24.95	6.7%	1.4%
Regulatory Asset Recovery	kW	60	1.42640	85.58	60	0.09591	5.75	-79.83	-93.3%	-4.5%
Retail Transmission - Network	l kW	60	2.01690	121.01	60	1.78700	107.22	-13.79	-11.4%	-0.8%
Retail Transmission - Connection	kW (	60	1.75880	105.53	60	1.62510	97.51	-8.02	-7.6%	-0.5%
Wholesale Market Service	kWh	16,158	0.00520	84.02	16,146	0.00520	83.96	-0.06	-0.1%	0.0%
Rural Rate Protection Charge	kWh	16,158			16,146	0.00100	16.15	ĺ		
Debt Retirement Charge	kWh /	15,000	0.00700	105.00	15,000	0.00700	105.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	16,158	0.05450	880.61	16,146	0.05450	879.96	-0.65	-0.1%	0.0%
Total Bill				1,755.41			1,694.14	-61.27	-3.5%	-3.5%

GS > 50KW 294 kW Consumption 160,117 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total
Monthly Service Charge				273.58			282.19	8.61	3.1%	0.1%
Distribution	kW	294	1.66780	490.38	294	1.94010	570.45	80.06	16.3%	0.6%
Sub-Total				763.96			852.64	88.67	11.6%	0.6%
Regulatory Asset Recovery	kW	294	1.42640	419.40	294	0.09591	28.20	-391.20	-93.3%	-2.9%
Retail Transmission - Network	kW	294	2.01690	593.03	294	1.78700	525.43	-67.60	-11.4%	-0.5%
Retail Transmission - Connection	kW	294	1.75880	517.14	294	1.62510	477.83	-39.31	-7.6%	-0.3%
Wholesale Market Service	kWh	172,478	0.00520	896.89	172,350	0.00520	896.22	-0.67	-0.1%	0.0%
Rural Rate Protection Charge	kWh	172,478			172,350	0.00100	172.35	ł		
Debt Retirement Charge	kWh	160,117	0.00700	1,120.82	160,117	0.00700	1,120.82	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	172,478	0.05450	9,400.05	172,350	0.05450	9,393.07	-6.98	-0.1%	-0.1%
Total Bill				13,711.29			13,466.56	-244.74	-1.8%	-1.8%

GS > 50KW 500 kW Consumption 100,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge			<u> </u>	273.58			282.19	8.61	3.1%	0.1%
Distribution	kW	500	1.66780	833.90	500	1.94010	970.05	136.15	16.3%	1.3%
Sub-Total				1,107.48			1,252.24	144.76	13.1%	1.3%
Regulatory Asset Recovery	kW	500	1.42640	713.20	500	0.09591	47.96	-665.25	-93.3%	-6.1%
Retail Transmission - Network	kW	500	2.01690	1,008.45	500	1.78700	893.50	-114.95	-11.4%	-1.1%
Retail Transmission - Connection	kW	500	1.75880	879.40	500	1.62510	812.55	-66.85	-7.6%	-0.6%
Wholesale Market Service	kWh	107,720	0.00520	560.14	107,640	0.00520	559.73	-0.42	-0.1%	0.0%
Rural Rate Protection Charge	kWh	107,720			107.640	0.00100	107.64			
Debt Retirement Charge	kWh	100,000	0.00700	700.00	100,000	0.00700	700.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	107,720	0.05450	5,870.74	107,640	0.05450	5,866.38	-4.36	-0.1%	0.0%
Total Billi				10,839,41			10,239.99	-599.42	-5.5%	-5.5%

**G\$ > 50KW** 1,000 kW Consumption 200,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %_	% of Total Bill
Monthly Service Charge				273.58			282.19	8.61	3.1%	0.0%
Distribution	kW	1,000	1.66780	1,667.80	1,000	1.94010	1,940.10	272.30	16.3%	1.3%
Sub-Total				1,941.38			2,222.29	280.91	14.5%	1.3%
Regulatory Asset Recovery	kW	1,000	1.42640	1,426.40	1,000	0.09591	95.91	-1,330.49	-93.3%	-6.2%
Retail Transmission - Network	kW	1.000	2.01690	2,016.90	1,000	1.78700	1,787.00	-229.90	-11.4%	-1.1%
Retail Transmission - Connection	kW	1,000	1.75880	1,758.80	1,000	1.62510	1,625.10	-133.70	-7.6%	-0.6%
Wholesale Market Service	kWh	215,440	0.00520	1,120.29	215,280	0.00520	1,119.46	-0.83	-0.1%	0.0%
Rural Rate Protection Charge	kWh	215,440			215,280	0.00100	215.28			
Debt Retirement Charge	kWh	200,000	0.00700	1,400.00	200,000	0.00700	1,400.00	0.00	0.0%	0.0%
Cost of Power Commodity	_ kWh	215,440	0.05450	11,741.48	215,280	0.05450	11 <u>,73</u> 2.76	-8.72	-0.1%	0.0%
Total Bill				21,405.25			20,197.80	-1,207.45	-5.6%	-5.6%

Street Lighting
138 kW Consumption
48,814 kWh Consumption
689 Connections kWh Consumption

			2007 BILL		T	2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge		689	1.17	806.13	689	1.82	1,253.98	447.85	55.6%	8.2%
Distribution	_ kW	138	4.70010	650.87	138	7.50070	1,038.70	387.83	59.6% _	7.1%
Sub-Total				1,457.00			2,292.68	835.68	57.4%	15.4%
Regulatory Asset Recovery	kW	138	0.35410	49.04	138	0.09400	13.02	-36.02	-73.5%	-0.7%
Retail Transmission - Network	kW	138	1.52110	210.64	138	1.34770	186.63	-24.01	-11.4%	-0.4%
Retail Transmission - Connection	kW	138	1.35970	188.29	138	1.25640	173.99	-14.30	-7.6%	-0.3%
Wholesale Market Service	kWh	52,583	0.00520	273.43	52,544	0.00520	273.23	-0.20	-0.1%	0.0%
Rural Rate Protection Charge	kWh	52,583	0.00100	52.58	52,544	0.00100	52.54	-0.04	-0.1%	0.0%
Debt Retirement Charge	kWh	48,814	0.00700	341.70	48,814	0.00700	341.70	0.00	0.0%	0.0%
Cost of Power Commodity	kWh .	52,583	0.05450	2,865.75	52,544	0.05450	2,863.63	-2.13	-0.1%	0.0%
Total Bill				5,438,44			6.197.41	758.97	14.0%	14.0%

Sentine) Lighting
0.75 kW Consumption
25 kWh Consumption kWh Consumption

			2007 BILL		1.	2008 BILL			IMPACT	_
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge	$\Box$			0.62			1.23	0.61	98.4%	4.4%
Distribution	kW	1	4.83960	3.63	L 1	9.52170	7.14	3.51	_ 96.7%	25.1%
Sub-Total				4.25			8.37	4.12	97.0%	29.5%
Regulatory Asset Recovery	kW	1	7.65420	5.74	1	0.09635	0.07	-5.67	-98.7%	-40.5%
Retail Transmission - Network	kW	1	1.52880	1.15	1	1.35450	1.02	-0.13	-11.4%	-0.9%
Retail Trensmission - Connection	kW	1	1.38810	1.04	] 1	1.28260	0.96	-0.08	-7.6%	~0.6%
Wholesale Market Service	l kWh	27	0.00520	0.14	27	0.00520	0.14	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	ƙWh	27	0.00100	0.03	27	0.00100	0.03	-0.00	-0.1%	0.0%
Debt Retirement Cherge	kWh	25	0.00700	0.18	25	0.00700	0.18	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	27	0.05450	1.47	27	0.05450	1.47	-0.00	-0.1%	0.0%
Total Bill				13.99			12.23	1.76	-12.6%	-12.6%

Sentinel Lighting
0.75 kW Consumption
50 kWh Consumption

IMPACT 2008 BILL 2007 BILL Rate Rate Charge Change Change % of Total Metric Volume Volume Bill 3.9% % 98.4% 0.61 \$ 0.62 3.63 4.25 5.74 1.15 1.04 0.28 Monthly Service Charge
Distribution
Sub-Total
Regulatory Asset Recovery
Retail Transmission - Network 1.23 98.4% 96.7% 97.0% -98.7% -11.4% -7.6% -0.1% -0.1% 0.0% 7.14 8.37 0.07 1.02 0.96 0.28 22.2% 26.1% -35.9% -0.8% -0.5% 0.0% 4.83960 9.52170 3.51 4.12 -5.67 -0.13 -0.08 -0.00 -0.00 0.00 0.09635 1.35450 1.28260 0.00520 7.65420 kW 1.52880 Retail Transmission - Network
Retail Transmission - Connection
Wholesale Market Service
Rural Rate Protection Charge
Debt Retirement Charge
Cost of Power Commodity
Total Bill 1 54 54 50 1.38810 54 54 50 kWh 0.00520 kWh kWh 0.00100 0.00700 0.05 0.00100 0.00700 0.05 0.0% 0.05450 0.05450

Unmetered Scattered Load
0 kW Consumption
800 kWh Consumption

			2007 BILL			2008 BILL			IMPACT			
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill		
Monthly Service Charge				7.80			7.34	-0.46	-5.9%	-0.4%		
Distribution	kWh	800	0.03560	28.48	800	0.03530	28.24	-0.24	-0.8%	-0.2%		
Sub-Total				36.28			35.58	-0.70	-1.9%	-0.6%		
Regulatory Asset Recovery	kWh	800	0.00970	7.76	800	0.00027	0.22	-7.54	-97.2%	-6.9%		
Retail Transmission - Network	kWh	800	0.00490	3.92	800	0.00430	3.44	-0.48	-12.2%	-0.4%		
Retail Transmission - Connection	kWh	800	0.00440	3.52	800	0.00410	3.28	-0.24	-6.8%	-0.2%		
Wholesale Market Service	kWh [	862	0.00520	4.48	861	0.00520	4.48	-0.00	-0.1%	0.0%		
Rural Rate Protection Charge	kWh	862	0.00100	0.86	861	0.00100	0.86	-0.00	-0.1%	0.0%		
Debt Retirement Charge	kWh	800	0.00700	5.60	800	0.00700	5.60	0.00	0.0%	0.0%		
Cost of Power Commodity	L kWh	862	0.05450	46.97	861	0.05450	46.93	-0.03	-0.1%	0.0%		
Total Bill	T			109.39			100.39	-9.00	-8.2%	-8.2%		

## **SCHEDULE "A"**

## **PILS**

	Source or Input	Tax Payable	Inclusion in Revenue Req.	
Regulatory Taxable Income Combined Income Tax Rate	TxblIncome TaxRates	127,142 16.500%	-	
Total Income Taxes Investment Tax Credits Miscellaneous Tax Credits		20,978		
Total Tax Credits		<u>-</u> _		
Income Tax Provision		20,978	25,124	grossed-up for income taxes
Ontario Capital Tax	CapitalTaxes	-	-	not grossed-up
Large Corporations Tax	CapitalTaxes	-		grossed-up for income taxes
Total PILs		20,978	25,124	amount for Output

Class	Class Description	UCC Opening Balance	Additions	Dispositions	UCC Before 1/2 Yr Adjustment	1/2 Year Rule {1/2 Additions Less Disposals}	Reduced UCC	Rate %	CCA	UCC Ending Balance
	Distribution System - 1988 to 22-Feb-2005	4,199,732	0	0	4,199,732	0	4,199,732	4%	167,989	4,031,743
2	Distribution System - pre 1988	0	o	0	0	0	0	6%	0	0
8	General Office/Stores Equip	53,650	10,000	0	63,650	5,000	58,650	20%	11,730	51,920
10	Computer Hardware/ Vehicles	29,591	250,000		279,591	125,000	154,591	30%	46,377	233,214
10.1	Certain Automobiles	0	0	0	0	0	0	30%	0	0
12	Computer Software	0	60,000	0	60,000	30,000	30,000	100%	30,000	30,000
13 1	Lease # 1	0	0	0	0	0	0			0
13 2	Lease #2	0	0	0	0	0	0		0	0
13 3	Lease # 3	0	0	0	0	0	0			0
13 4	Leasa # 4	0	0	0	0	0	0			0
	Franchise	0	0	0	0	0	0		0	0
17	New Electrical Generating Equipment Acq'd after Feb 27/00 Other Than Bldgs	0	0	o	0	0	0	8%	0	0
43.1	Certain Energy-Efficient Electrical Generating Equipment	0	0	0	0	0	0	30%	0	0
45	Computers & Systems Software acq'd post Mar 22/04	5,224	0	0	5,224	0	5,224	45%	2,351	2,873
46	Data Network Infrastructure Equipment (acq'd post Mar 22/04)	3,323	0	0	3,323	0	3,323	30%	997	2,326
	Distribution System - post 22-Feb-2005	501,018	247,400	0	748,418	123,700	624,718	8%	49,977 	698,440
98	No CCA	0	0	0	0	0	0			0
45.1	Computers & Systems So	7,250	35,000	0	42,250	17,500	24,750	55%	13,613	28,638
			0	0			0			
	TOTAL	4,799,788	602,400	0	5,402,188	301,200	5,100,988		323,034	5,079,154

	T2S1 line	Total for Legal Entity	Non-Distribution Eliminations	Utility Amount
Income before PILs/Taxes	Ā	211,022	0	211,0
Additions: Interest and penalties on taxes	103		ol	
Amortization of tangible assets	103	239,155	0	239,1
Amortization of intangible assets	106	0		
Recapture of capital cost allowance from Schedule 8	107	0	0	
Gain on sale of eligible capital property from Schedule 10	108	0	0	
Income or loss for tax purposes- joint ventures or partnerships	109	0	0	
Loss in aquity of subsidiaries and	110	0	0	
affiliates Loss on disposal of assets	111	0	0	
Charitable donations	112		0	
Taxable Capital Gains	113 114	0	0	
Political Donations  Deferred and prepaid expenses	116	<u>_</u>		
Scientific research expenditures	118	0	0	
deducted on financial statements Capitalized interest	119	0	0	
Non-deductible club dues and fees	120	0		
Non-deductible meals and entertainment expense	121	o	o	
Non-deductible automobile expenses	122	0	0	
Non-deductible life insurance premiums	123	0	0	
Non-deductible company pension plans	124	0	0	
Tax reserves beginning of year Reserves from financial statements-	125		0	
balance at end of year	126		o	
Soft costs on construction and renovation of buildings	127	0	o	
Book loss on joint ventures or partnerships	205	o	o	
Capital items expensed	206	0	0	
Debt issue expense Development expenses claimed in	208	0	0	
current year	212	0	0	
Financing fees deducted in books	216		0	
Gain on settlement of debt	220			
Non-deductible advertising  Non-deductible interest	226 227	0	<del></del>	
Non-deductible legal and accounting	228	0	o 0	
fees				
Recapture of SR&ED expenditures Share issue expense	231 235	0	0	
Write down of capital property	236	0	0	
Amounts received in respect of qualifying environment trust per paragraphs 12(1)(z.1) and 12(1)(z.2)	237	0	0	
Interest Expensed on Capital Leases	290	0_	0	
Realized Income from Deferred Credit Accounts	291	0	0	
Pensions	292	0	0	
Non-deductible panalties	293	0		
Pebt Financing Expenses for Book	293 294			
Debt Financing Expenses for Book Purposes Other Additions (see OtherAdditions		0		90,
Debt Financing Expenses for Book Purposes Other Additions (see OtherAdditions sheet)	294	0	0	
Debt Financing Expenses for Book  urposes  ther Additions (see OtherAdditions theet)  Total Additions  Deductions:	294	90,124	0 0	
Debt Financing Expenses for Book Purposes Under Additions (see Other Additions heet) Total Additions Deductions: Gain on disposal of assets per financial	294	90,124	0 0	
Debt Financing Expenses for Book Purposes Uniform Additions (see OtherAdditions theet) Total Additions  Deductions: Gain on disposal of assets per financial statements Dividends not taxable under section 83	294 295 401 402	0 0 90,124 329,279	0 0 0	329,
Debt Financing Expenses for Book Purposes Ther Additions (see OtherAdditions heet) Octal Additions Deductions: Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8	294	0 0 90,124 329,279	0 0 0 0	329,
bebt Financing Expenses for Book Purposes Purposes Ther Additions (see OtherAdditions heet) Oductions: Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction	294 295 401 402 403	0 0 90,124 329,279 0 0 0 323,034	0 0 0 0	329,
bet Financing Expenses for Book Purposes Purposes Purposes Purposes Purposes Purposes Purposes Potal Additions Peductions:  Sein on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8	294 295 401 402 403 404	0 90,124 329,279 0 0 323,034	0 0 0 0	329,
bebt Financing Expenses for Book Purposes Purposes Ther Additions (see OtherAdditions heet) Otal Additions  Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses	294 295 401 402 403 404 405	0 90,124 329,279 0 0 323,034 0	0 0 0 0 0	329,
bet Financing Expenses for Book Purposes Purposes Purposes Purposes Purposes Purposes Purposes Potal Additions Paductions:  Beductions:  Beductions:  Beductions:  Beductions:  Beductions:  Beductions:  Boiridends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10  Allowable business investment loss	294 295 401 402 403 404 405 406	0 90,124 329,279 0 0 323,034 0	0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Debt Financing Expenses for Book Purposes Debt Financing Expenses for Book Purposes Deductions: Cain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8	294 295 401 402 403 404 405 406 409	0 90,124 329,279 0 0 323,034 0 0	0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Purposes Dither Additions (see OtherAdditions theet) Poductions:  Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year Tax reserves end of year Reserves from financial statements -	294 295 401 402 403 404 405 406 409 411	0 0 90,124 329,279 0 0 323,034 0 0	0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Durposes Divident Additions (see OtherAdditions heet) Deductions: Gain on disposal of assets per financial etatements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Ferminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year	294 295 401 402 403 404 405 406 409 411	0 0 90,124 329,279 0 0 323,034 0 0 0	0 0 0 0 0 0 0 0 0 0	329,
bet Financing Expenses for Book Purposes Peductions:  Cain on disposal of assets per financial statements Dividende not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year Tax reserves end of year Reserves from financial statements- belance at beginning of year Contributions to deferred income plans Book income of joint venture or	294 295 401 402 403 404 405 406 409 411 413	0 90,124 329,279 0 0 323,034 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Deductions: Cain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year Tax reserves from financial statements—balance at beginning of year Reserves from financial statements—balance at period to deferred income plans Book income of joint venture or partnership Equity in income from subskilary or	294 295 401 402 403 404 405 406 409 411 413 414	0 0 90,124 329,279 0 0 323,034 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purpos	294 295 401 402 403 404 405 406 409 411 413 414 416 305	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Purposes Deductions: Osal Additions Deductions: Osal on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss fro	294 295 401 402 403 404 405 409 411 413 414 305 306	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0	329,
bet Financing Expenses for Book Purposes Purpose	294 295 401 402 403 404 405 409 411 413 414 416 305 306 390 391	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Purposes Divident Additions (see OtherAdditions theet) Poductions: Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schadule 8 Terminal loss from Schadule 9 Terminal loss from Schadule	294 295 401 402 403 404 405 406 409 411 413 414 416 305 306 390 391 392	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purposes Purposes Diver Additions (see OtherAdditions theet)  Fotal Additions  Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cest allowance from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year Tax reserves end of year Reserves from financial statements—balance at beginning of year Contributions to deferred income plans Book income of joint venture or partnership Equity in income from subsidiary or affiliates Interest capitalized for accounting deducted for tax Capital Lease Payments Non-taxable imputed interest income on deferrat and variance accounts	294 295 401 402 403 404 405 409 411 413 414 416 305 306 390 391 392 393	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329,
Debt Financing Expenses for Book Purposes Purpos	294 295 401 402 403 404 405 406 409 411 413 414 416 305 306 390 391 392	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329, 323.0
Debt Financing Expenses for Book Purposes Purposes Purposes Dither Additions (see OtherAdditions theet) Cotal Additions Cain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning from subskiliary or affiliates Interest capitalized for accounting deducted for tax Capital Lease Payments Non-laxable imputed interest income on deference and variance accounts  Central and variance accounts  Central Deductions (see OtherDeductions theet)  Textifications from Schedule 9 Textifications for the financial statements - balance from Schedule 9 Textifications from Sc	294 295 401 402 403 404 405 409 411 413 414 416 305 306 390 391 392 393	0 90,124 329,279 0 0 323,034 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329, 323,0 90. 413,
Debt Financing Expenses for Book Purposes Purposes Purposes Dither Additions (see OtherAdditions theet) Cotal Additions Cain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning of year Centributions from Schedule 9 Texpenses from financial statements - balance at beginning from subskiliary or affiliates Interest capitalized for accounting deducted for tax Capital Lease Payments Non-laxable imputed interest income on deference and variance accounts  Central and variance accounts  Central Deductions (see OtherDeductions theet)  Textifications from Schedule 9 Textifications for the financial statements - balance from Schedule 9 Textifications from Sc	294 295 401 402 403 404 405 409 411 413 414 416 305 306 390 391 392 393	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329, 323,0 323,0 90, 413,
Debt Financing Expenses for Book Purposes Purposes Purposes Dither Additions (see OtherAdditions theret) Fotal Additions  Deductions:  Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 8 Terminal loss from Schedule 8 Terminal loss from Schedule 8 Cumulative eligible capital deduction from Schedule 10 Allowable business investment loss Deferred and prepaid expenses Scientific research expenses claimed in year Tax reserves end of year Reserves from financial statements - balance at beginning of year Contributions to deferred income plans Book income of joint venture or partnership Equity in income from subsidiary or affiliates Interest capitalized for accounting deducted for tax Capital Lease Payments Non-taxable imputed interest income on deferral and variance accounts Therefore the proposes Net Income for Tax Purposes	294 295 401 402 403 404 405 406 409 411 413 414 305 306 390 391 392 393 394	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329, 323,0 90. 413,
Debt Financing Expenses for Book Purposes Purposes Purposes Dither Additions (see OtherAdditions sheet) Fotal Additions Cain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schadule 8 Terminal loss from Schadul	294 295 401 402 403 404 405 409 411 413 414 416 305 306 390 391 392 393	0 90,124 329,279 0 0 323,034 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	90,1 323,0 323,0 323,0 90,1 413,1 31
Debt Financing Expenses for Book Purposes Purposes Dither Additions (see OtherAdditions sheet) Fotal Additions  Deductions:  Gain on disposal of assets per financial statements Dividends not taxable under section 83 Capital cost allowance from Schedule 8 Terminal loss from Schedule 9 Tax reserves end of year Reserves from financial statements balance at beginning of year Centributions to deferred income plans Book income of joint venture or partnership Contributions to deferred income plans Book income of joint venture or partnership in income from subsidiary or affiliates Interest capitalized for accounting deducted for tax Capital Lease Payments Non-taxable imputed interest income on deferral and variance accounts Transcript over unit accounts	294 295 401 402 403 404 405 406 409 411 413 414 416 305 306 390 391 392 393 394	0 90,124 329,279 0 0 323,034 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	329, 323,0 323,0 90, 413,

Rideau St. Lawrence Distribution Inc.	As submit	As submitted Nov. 22, 2007				Per May 6, 2008 OEB Decision			
				Allowance for					
			Allowance for			Working			
WORKING CAPITAL ALLOWANCE CALCULATION BY ACCOUNT	2008 Test	15%	Working Capital	2008 Test	15%	Capital			
Operation (Working Capital)									
5005-Operation Supervision and Engineering	89,889	15%	13,483	89,889	15%	13,483			
5012-Station Buildings and Fixtures Expense	1,917	15%	288	1,917		288			
5016-Distribution Station Equipment - Operation Labour	1,329	15%	199	1,329	15%	199			
5020-Overhead Distribution Lines and Feeders - Operation Labour	7,922	15%	1,188	7,922	15%	1,188			
5035-Overhead Distribution Transformers- Operation	3,861	15%	579	3,861	15%	579			
5065-Meter Expense	899	15%	135	899	15%	135			
5070-Customer Premises - Operation Labour	324	15%	49	324	15%	49			
5085-Miscellaneous Distribution Expense	60,985		9,148	60,985		9,148			
5095-Overhead Distribution Lines and Feeders - Rental Paid	22,582	15%	3,387	22,582	15%	3,387			
Sub-Total	189,708		28,456	189,708		28,456			
Maintenance (Working Capital)									
5110-Maintenance of Buildings and Fixtures - Distribution Stations	175	15%	26	175	15%	26			
5114-Maintenance of Distribution Station Equipment	70,700		10,605	70,700		10,605			
5120-Maintenance of Poles, Towers and Fixtures	39,343		5,901	39,343		5,901			
5125-Maintenance of Overhead Conductors and Devices	94,356		14,153	94,356		14,153			
5130-Maintenance of Overhead Services	41,393		6,209	41,393		6,209			
5135-Overhead Distribution Lines and Feeders - Right of Way	72,966		10,945	72,966		10,945			
5145-Maintenance of Underground Conduit		15%	72		15%	72			
5150-Maintenance of Underground Conductors and Devices	12,464		1,870	12,464	-	1,870			
5155-Maintenance of Underground Services	8,776		1,316	8,776		1,316			
5160-Maintenance of Line Transformers	57,325		8,599	57,325		8,599			
5175-Maintenance of Meters	4,008		601	4,008		601			
Sub-Total	401,986	'	60,298	401,986		60,298			
Billing and Collections									
5310-Meter Reading Expense	53,194		7,979	53,194		7,979			
5315-Customer Billing	264,669		39,700	264,669		39,700			
5320-Collecting	32,388		4,858	32,388		4,858			
5335-Bad Debt Expense	13,325	15%	1,999	13,325	15%	1,999			
Sub-Total	363,576		54,536	363,576		54,536			
Community Relations	054	450/	00	054	450/	20			
5410-Community Relations - Sundry Sub-Total	254	15%	38	254	15%	38			
Sup-10(a)	254		36	254		30			
Administrative and General Expenses									
5605-Executive Salaries and Expenses	0	15%	-	0	15%	•			
5615-General Administrative Salaries and Expenses	338,219	15%	50,733	338,219	15%	50,733			
5620-Office Supplies and Expenses	15,909	15%	2,386	15,909	15%	2,386			
5625-Administrative Expense Transferred Credit	19,578	15%	2,937	19,578	15%	2,937			
5630-Outside Services Employed	72,879	15%	10,932	72,879	15%	10,932			
5635-Property Insurance	37,463		5,619	37,463		5,619			
5655-Regulatory Expenses	31,458	15%	4,719	31,458	15%	4,719			
5665-Miscellaneous General Expenses	85,624		12,844	85,624		12,844			
5670-Rent	7,716		1,157	7,716		1,157			
5675-Maintenance of General Plant	22,256	15%	3,338	22,256	15%	3,338			
Sub-Total	631,102		94,665	631,102		94,665			
Taxes Other than Income Taxes:									
6105-Taxes Other than Income Taxes	22,426	15%	3,364	22,426	15%	3,364			
Sub-Total	22,426.00	1370	3,364	22,426.00	10/0	3,364			
Sub-10tal	22,420.00		3,304	22,420.00		3,304			
Cost of Power									
4705-Power Purchased	7,301,929	15%	1,095,289	6,966,881	15%	1,045,032			
4708-Charges-WMS	770,074	15%	115,511	770,074	15%	115,511			
4714-Charges-NW	661,754	15%	99,263	564,748	15%	84,712			
4716-Charges-CN	583,336	15%	87,500	525,187	15%	78,778			
4730-Rural Rate Assistance Expense	12,004	15%	1,801	12,004		1,801			
4750-LV Charges Costs	101,509	15%	15,226	192,735	15%	28,910			
Sub-Total	9,430,606		1,414,591	9,031,629		1,354,744			
MODIVING CARITAL ALL CHIANCE TOTAL			4.055.040			4 500 100			
WORKING CAPITAL ALLOWANCE TOTAL			1,655,949			1,596,102			

## Cost of Capital and Capital Structure

Test Year Balances, Fixed Asset	e in Service:	-
Opening Balance	3,496,780	
Closing Balance	<u>3,860,025</u>	
Average Balance		3,678,402
Working Capital Allowance		1,596,102
Total Rate Base		5,274,504
Regulated Rate of Return		6.64%
Regulated Return On Capital		350,209
Deemed Interest Expense		139,187
Deemed Return on Equity		211,022

### Revenue Requirement

Service Revenue Requirement	2,223,540	
Less: Revenue Offsets	-251,850	
Base Revenue Requirement		1,971,690
Directly Allocated CDM		0
Outstanding Base Revenue Require	rement	1,971,690

## Service Revenue Requirement:

Total Reduction in Base Revenue Requirement	\$(43,702)
Reduction in Amortization Expense (1/2 Yr Rule)	(14,663)
Rate of Return	(21,195)
PILS net change – Tax rate reduction and lower Income	(\$7,844)

#### Submitted November 22, 2007:

Outstanding Base Revenue Requirement	\$2,015,392

Total reductions per Board Decision (43,702)

Adjusted per Boards Direction May 6, 2008: \$1,971,690

## 2008 RATE APPLICATION

2008 Base Revenue @ 100%

Customer Classes	Rev/Cost Ratio per cost allocation model	Proposed Proportion of Revenue	Base Revenue Requirement @ Proposed Proportions	Over /(Under) Contributing	Proposed Revenue/C ost Ratio
Residential	1,095,536	56.971%	1,123,292	27,756	102.53%
GS <50 kW	431,635	20.000%	394,338	(37,297)	91.36%
GS >50 kW	316,749	19.013%	374,877	58,128	118.35%
Street Lights	110,773	3.146%	62,029	(48,743)	56.00%
Sentinel Lights	3,722	0.150%	2,958	(764)	79.47%
Unmetered Scatered Load	13,276	0.720%	14,196	920	106.93%
	1,971,690	100.000%	1,971,690	0	

#### Fixed / Variable Split per 2007 Rates

	TOTAL	Residential	GS < 50KW	GS > 50KW	Street Lighting	Sentinel Lighting	Unmetered Scattered Load
Metric for variable rate		kWh	kWh	kW	kW	kW	kWh
Volume		45,379,623	24,085,319	132,103	3,875	279	304,493
Variable rate		\$0.0107	\$0.0051	\$1.6678	\$4.7001	\$4.8396	\$0. <u>0</u> 356
Total proceeds from variable charges	859,122	485,562	122,835	220,321	18,215	1,349	10,840
less: LV charges	163,562	64,075	30,903	66,743	1,470	118	252
less: Transformer Allowance recoveries	19,363	11,745	2,557	4,267	465	34	295
Net Revenues from variable charges	676,196	409,742	89,375	149,311	16,279	1,197	10,293
Metric for fixed monthly rate		Customer	Customer	Customer	Connection	Connection	Customer
Volume		4,972	778	64	1,653	34	48
Fixed rate		\$8.78	\$13.36	\$273.58	\$1.17	\$0.62	\$7.80
Total proceeds from fixed charges	886,567	523,850	124,649	210,109	23,210	255	4,493
less: Smart Meter rate adder \$0.26	18,138	15,513	2,426	200			
less: LV charges	0	0	0	0	0	0	0
less: Transformer Allowance recoveries	24,138	14,123	3,406	5,832	645	7	125
Net Revenue from fixed charge	844,291	494,214	118,817	204,078	22,565	248	4,368
Net Distribution Revenue	1,520,487	903,956	208,192	353,389	38,845	1,445	14,661
% variable		45.33%	42.93%	42.25%	41.91%	82.85%	70.21%
% fixed		54.67%	57.07%	<u>57.75%</u>	58.09%	17.15%	29.79%
2008 Revenue Requirement							
Net Distribution Revenue	1,971,690	1,123,292	394,338	374,877	62,029	2,958	14,196
Net Revenues from variable charges	875,249	509,162	169,285	158,390	25,996	2,450	9,967
Net Revenue from fixed charge	1,096,441	614,130	225,053	216,488	36,034	507	4,229
Variable Rate (before LV / Transf. Allow.)		\$0.0112	\$0.0070	\$1.1990	\$6.7078	\$8.7901	\$0.0327
Fixed Rate (before Smart Meters / Transf.	Allow.)	\$10.29	\$24.12	\$281.88	\$1.82	\$1.23	\$7.34

Customer Class	Per Cost A	location	Existing Fixed/Variable Split			pplication		Application	
	Minimum	Maximum	Existing Rate	with new Rev. Req	Proposed Fixed Rate	* Resulting Usage Rate	per	Fixed %	Variable %
Residential	\$3.77	\$9.45	\$8.78	\$9.77	\$10.29	0.0112	kWh	54.67%	45.33%
GS < 50KW	\$10.74	\$20.81	\$13.36	\$21.29	\$24.12	0.0070	kWh	57.07%	42.93%
GS > 50KW	\$37.08	\$70.18	\$273.58	\$238.27	\$281.88	1.1990	kW [	57.75%	42.25%
Street Lighting	\$0.27	\$4.93	\$1.17	\$1.75	\$1.82	6.7078	kW	58.09%	41.91%
Sentinel Lighting	\$0.19	\$4.76	\$0.62	\$1.14	\$1.23	8.7901	kW	17.15%	82.85%
Unmetered Scattered Load	\$7.99	\$14.32	\$7.80	\$7.22	\$7.34	0.0327	_kWh [	29.79%	70.21%

## LV Allocation Detail:

Class	RetTransRev	TransRevPct	LowVoltRev		
Residential	467,410	38.79%	74,761		
GS < 50KW	223,993	18.59%	35,827		
GS > 50KW	498,780	41.39%	79,778		
Street Lighting	11,164	0.93%	1,786		
Sentinel Lighting	813	0.07%	130		
Unmetered Scattered Load	2,832	0.24%	453		
TOTAL				Low Voltage Revenue Requirement	192,735
				Total Low Voltage Revenue Allocated	192,735

### RECONCILLIATION OF RATE CLASS REVENUE TO TOTAL REVENUE REQUIREMENT

Total Revenue - Base + Trans + LV + SM

						Proposed
	Number of		ļ	Proposed	Proposed	Revenue at
	Customer		Volume	Fixed	Volumetric	Proposed
Rate Class_	Connections	Volume kWh	kW	Charge \$	Charge	Rates
Residential	4,972	45,379,623	_	10.55	0.0133	\$1,235,123
General Service <50kW	778	24,085,319		24.38	0.0088	\$439,562
General Service 50kW to 4,999kW	64	47,522,972	132,103	282.14	1.8564	\$461,920
Street Lighting (Connections)	1,653	1,366,231	3,875	1.82	7.4359	\$64,916
Sentinel Lighting	34	100,826	279	1.23	9.4558	\$3,140
Unmetered Scattered Load	48	304,493		7.34	0.0351	\$14,916
Totals	7,549	118,759,464	136,257			\$2,219,577

219,577 <sup>¯</sup>
18, <u>14</u> 0
201,437
192,735
37,012
971,690
٥.

## RIDEAU ST. LAWRENCE DISTRIBUTION INC. TARIFF OF RATES AND CHARGES

This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

#### **APPLICATION**

The application of these rates and charges shall be in accordance with the License of the Distributor and any Codes, Guidelines or Orders of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's License or a Code, Guideline or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

This schedule does not contain any rates and charges relating to the electricity commodity (e.g. the Regulated Price Plan).

#### **EFFECTIVE DATES**

DISTRIBUTION RATES – (Date to be determined),2008 for all consumption or deemed consumption service used on or after that date.

SPECIFIC SERVICE CHARGES – (Date to be determined), 2008 for all charges incurred by customers on or after that date.

LOSS FACTOR ADJUSTMENT – (Date to be determined) 2008 unless the distributor is not capable of prorating changed loss factors jointly with distribution rates. In that case, the revised loss factors will be implemented upon the first subsequent billing for each billing cycle.

#### Service Classifications

#### <u>Residential</u>

This classification applies to an account taking electricity at 750 volts or less where the electricity is used exclusively in a separate metered living accommodation. Customers shall be residing in single-dwelling units that consist of a detached house or one unit of a semi-detached, duplex, triplex or quadruplex house, with a residential zoning. Separately metered dwellings within a town house complex or apartment building also qualify as residential customers.

#### General Service Less Than 50 kW

This classification applies to a non residential account taking electricity at 750 volts or less whose average monthly demand is less than, or is forecast to be less than, 50 kW.

#### General Service 50 to 4999kW

This classification applies to a non residential account whose average monthly maximum demand used for billing purposes is equal to or greater than, or is forecast to be equal to or greater than, 50 kW but less than 5,000 kW.

#### **Unmetered Scattered Load**

This classification applies to an account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW and the consumption is unmetered. Such connections include cable TV power packs, bus shelters, telephone booths, traffic lights, railway crossings, etc. The level of the consumption will be agreed to by the distributor and the customer, based on detailed manufacturer information/documentation with regard to electrical consumption of the unmetered load or periodic monitoring of actual consumption.

#### Sentinel Lights

This classification refers to accounts that are an unmetered lighting load supplied to a sentinel light.

#### **Street Lighting**

This classification applies to an account for roadway lighting with a Municipality, Regional Municipality, Ministry of Transportation and private roadway lighting, controlled by photo cells. The consumption for these customers will be based on the calculated connected load times and the required lighting times established in the approved OEB street lighting load shape template.

Rates proposed below include a smart meter rate adder of \$0.26 per month per metered customer.

#### **Table of Proposed Rates**

Residential	UOM	Rate
Service Charge	\$	10.55
Distribution Volumetric Rate	\$/kWh	0.01330
Regulatory Asset Recovery	\$/kWh	0.00027
Retail Transmission Rate – Network Service Rate	\$/kWh	0.00480
Retail Transmission Rate - Line and Transformation Connection Service Rate	\$/kWh	0.00450
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Regulated Price Plan – Administration Charge (if applicable)	\$	0.25

#### General Service <50 kW

Service Charge	\$	24.38
Distribution Volumetric Rate	\$/kWh	0.00880
Regulatory Asset Recovery	\$/kWh	0.00027
Retail Transmission Rate - Network Service Rate	\$/kWh	0.00430
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kWh	0.00410
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Regulated Price Plan – Administration Charge (if applicable)	\$	0.25

General Service >50 to 4999 kW		
Service Charge	\$	282.14
Distribution Volumetric Rate	\$/kW	1.85640
Regulatory Asset Recovery	\$/kW	0.09591
Retail Transmission Rate - Network Service Rate	\$/kW	1.78700
Retail Transmission Rate - Line and Transformation Connection Service Rate	\$/kW	1.62510
Retail Transmission Rate - Network Service Rate - Interval Metered	\$/kW	1.99660
Retail Transmission Rate - Line and Transformation Connection Service Rate - Interval Metered	\$/kW	1.81130
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Standard Supply Service Administration Charge (if applicable)	\$	0.25
Unmetered Scattered Load		
Service Charge (per customer)	\$	7.34
Distribution Volumetric Rate	\$/kWh	0.03510
Regulatory Asset Recovery	\$/kWh	0.00027
Retail Transmission Rate – Network Service Rate	\$/kWh	0.00430
Retail Transmission Rate - Line and Transformation Connection Service Rate	\$/kWh	0.00410
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Regulated Price Plan – Administration Charge (if applicable)	\$	0.25
Sentinel Lighting		
Service Charge (per connection)	\$	1.23
Distribution Volumetric Rate	\$/kW	9.45580
Regulatory Asset Recovery	\$/kW	0.09635
Retail Transmission Rate – Network Service Rate	\$/kW	1.35450
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.28260
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Regulated Price Plan – Administration Charge (if applicable)	\$	0.25
Street Lighting		
Service Charge (per connection)	\$	1.82
Distribution Volumetric Rate	\$/kW	7.43590
Regulatory Asset Recovery	\$/kW	0.09400
Retail Transmission Rate - Network Service Rate	\$/kW	1.34770
Retail Transmission Rate - Line and Transformation Connection Service Rate	\$/kW	1.25640
Wholesale Market Service Rate	\$/kWh	0.00520
Rural Rate Protection Charge	\$/kWh	0.00100
Regulated Price Plan - Administration Charge (if applicable)	\$	0.25

## RIDEAU ST. LAWRENCE DISTRIBUTION INC. TARIFF OF RATES AND CHARGES

This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

## **Specific Service Charges**

Customer Administration		
Arrears certificate		\$15.00
Statement of account		\$15.00
Pulling postdated cheques		\$15.00
Duplicate invoices for previous billing		\$15.00
Request for other billing information		\$15.00
Easement letter		\$15.00
Income tax letter		\$15.00
Notification charge		\$15.00
Account history		\$15.00
Credit reference/credit check (plus credit agency costs)		\$15.00
Returned cheque charge (plus bank charges)		\$15.00
Charge to certify cheque		\$15.00
Legal letter charge		\$15.00
Account set up charge/change of occupancy charge (plu		\$30.00
Meter dispute charge plus Measurement Canada fees (	f meter found correct)	\$30.00
Special meter reads		\$30.00
Non-Payment of Account		
Late Payment – per month		1.50%
Late Payment – per annum		19.56%
Collection of account charge - no disconnection		\$30.00
Collection of account charge - no disconnection - after	regular hours	\$165.00
Disconnect/Reconnect at meter - during regular hours		\$65.00
Disconnect/Reconnect at meter - after regular hours		\$185.00
Disconnect/Reconnect at pole - during regular hours		\$185.00
Disconnect/Reconnect at pole - after regular hours		\$415.00
Service call - customer-owned equipment		\$30.00
Service call - after regular hours		\$165.00
Install/Remove load control device - during regular hour	s	\$65.00
Install/Remove load control device - after regular hours		\$185.00
Temporary service install & remove - overhead - no tran	sformer	\$500.00
Temporary service install & remove - underground - no	transformer	\$300.00
Temporary service install & remove - overhead - with tra	nsformer	\$1,000.00
Specific Charge for Access to the Power Poles per/pole	/year	\$22.35

#### Allowances

Transformer Allowance for Ownership per kW of billing demand/month	\$/kW (0.60)
Primary Metering Allowance for transformer losses – applied to measured demand and energy	(1.00%)

## **Loss Factors**

Total Loss Factor - Secondary Metered Customer > 5,000kW	1.0764
Total Loss Factor - Secondary Metered Customer > 5,000kW	N/A
Total Loss Factor - Primary Metered Customer < 5,000kW	1.0657
Total Loss Factor - Primary Metered Customer > 5,000kW	N/A

#### **BILL IMPACTS**

Residential 100 kWh Consumption

	Metric		2007 BILL			2008 BILL			IMPACT	
l		Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total
Monthly Service Charge				8.78			10.55	1.77	20.2%	9.4%
Distribution	kWh	100	0.01070	1.07	100	0.01330	1,33	0.26	24.3%	1.4%
Sub-Total				9.85			11.88	2.03	20.6%	10.8%
Regulatory Asset Recovery	kWh	100	0.00640	0.64	100	0.00027	0.03	-0.61	-95.8%	-3.3%
Retail Transmission - Network	kWh	108	0.00540	0.58	108	0.00480	0.52	-0.07	-11.2%	-0.3%
Retail Transmission - Connection	kWh	108	0.00490	0.53	108	0.00450	0.48	-0.04	-8.2%	-0.2%
Wholesale Market Service	kWh	108	0.00520	0.56	108	0.00520	0.56	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	l kWh l	108	0.00100	0.11	108	0.00100	0.11	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh ]	100	0.00700	0.70	100	0.00700	0.70	0.00	0.0%	0.0%
Cost of Power Commodity	kWb	108	0.05450	5.87	108	0.05450	5.87	-0.00	-0.1%	0.0%
Total Bill				18.84			20.14	1.30	6.9%	6.9%

Residential 250 kWh Consumption

	Metric		2007 BILL			2008 BILL			IMPACT	
		Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78			10.55	1.77	20.2%	5.2%
Distribution	kWh	250	0.01070	2.68	250	0.01330	3.33	0.65	24.3%	1.9%
Sub-Total	1			11.46			13.88	2.42	21.1%	7.1%
Regulatory Asset Recovery	kWh	250	0.00640	1.60	250	0.00027	0.07	-1.53	-95.8%	-4.5%
Retail Transmission - Network	kWh	269	0.00540	1.45	269	0.00480	1.29	-0.16	-11.2%	-0.5%
Retail Transmission - Connection	kWh	269	0.00490	1.32	269	0.00450	1.21	-0.11	-8.2%	-0.3%
Wholesale Market Service	kWh	269	0.00520	1.40	269	0.00520	1.40	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	269	0.00100	0.27	269	0.00100	0.27	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	250	0.00700	1.75	250	0.00700	1.75	0.00	0.0%	0.0%
Cost of Pawer Commodity	kWh	269	0.05450	14.68	269	0.05450	14.67	-0.01	-0.1%	0.0%
Total Bill	$\overline{}$			33,93			34.53	0.60	1.8%	1.8%

Residential 500 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$_	Volume	Rate \$	Charge \$_	Change \$	Change %	% of Total
Monthly Service Charge	1		_	8.78			10.55	1.77	20.2%	3.0%
Distribution	kWh	500	0.01070	5.35	500	0.01330	6.65	1.30	24.3%	2.2%
Sub-Total				14.13			17.20	3.07	21.7%	5.2%
Regulatory Asset Recovery	kWh	500	0.00640	3.20	500	0.00027	0.14	-3.07	-95.8%	5.2%
Retail Transmission - Network	kWh	539	0.00540	2.91	538	0.00480	2.58	-0.33	-11.2%	-0.6%
Retail Transmission - Connection	kWh	539	0.00490	2.64	538	0.00450	2.42	-0.22	-8.2%	-0.4%
Wholesale Market Service	kWh	539	0.00520	2.80	538	0.00520	2.80	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	539	0.00100	0.54	538	0.00100	0.54	-0.00	-0.1%	0.0%
Debt Retirement Cherge	kWh	500	0.00700	3.50	500	0.00700	3.50	0.00	0.0%	0.0%
Cost of Power Commodity	_ kWh	539	0.05450	29.35	538	0.05450	29.3 <u>3</u>	-0.02	-0.1%	0 <u>.0</u> %
Total Bill				59.07			58.51	-0.56	-1.0%_	-1.0%

Reeldential 750 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78			10.55	1.77	20.2%	2.1%
Distribution	kWh	750	0.01070	_ 8.03	750_	0.01330	9.98	1.95	24.3%	2.3%
Sub-Total				16.81			20.53	3.72	22.1%	4.4%
Regulatory Asset Recovery	kWh	750	0.00640	4.80	750	0.00027	0.20	-4.60	-95.8%	-5.5%
Retail Transmission - Network	kWh	808	0.00540	4.36	807	0.00480	3.88	-0.49	-11.2%	-0.6%
Retail Transmission - Connection	kWh	808	0.00490	3.96	807	0.00450	3.63	-0.33	-8.2%	-0.4%
Wholesale Market Service	kWh	808	0.00520	4.20	807	0.00520	4.20	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	808	0.00100	0.81	807	0.00100	0.81	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	750	0.00700	5.25	750	0.00700	5.25	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	808	0.05450	44.03	807	0.05450	44.00	-0.03	-0.1%	0.0%
Total Bill				84.22			82.49	-1.73	-2.1%	-2.1%

Residential 1,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT_	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				8.78			10.55	1.77	20.2%	1.6%
Distribution	kWh	1,000	0.01070	10.70	1,000	0.01330	13.30	2.60	24.3%	2.4%
Sub-Total				19.48			23.85	4.37	22.4%	4.0%
Regulatory Asset Recovery	kWh	1,000	0.00640	6.40	1,000	0.00027	0.27	-6.13	-95.8%	5.6%
Retail Transmission - Network	kWh	1,077	0.00540	5.82	1,076	0.00480	5.17	-0.65	-11.2%	-0.6%
Retail Transmission - Connection	kWh	1,077	0.00490	5.28	1,076	0.00450	4.84	-0.43	-8.2%	-0.4%
Wholesale Market Service	kWh	1,077	0.00520	5.60	1,076	0.00520	5.60	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	1,077	0.00100	1.08	1,076	0.00100	1.08	-0.00	-0.1%	0.0%
Debt Retirament Charga	kWh	1,000	0.00700	7.00	1,000	0.00700	7.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	1,077	0.05450	58.71	1,076	0.05450	58.66	~0.04	0.1% _	0.0%
Total Bill	$\overline{}$			109.36			106.47	-2.89	-2.6%	-2.6%

GS < 50KW 1,500 kWh Consumption

			2007 BILL		T	2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	7.3%
Distribution	_ kWh	1,500	0.00510	7.65	1,500	0.00880	13.20	5.55	72.5%	3.7%
Sub-Total				21.01			37.58	16.57	78.9%	11.0%
Regulatory Asset Recovery	kWh	1,500	0.00430	6.45	1,500	0.00027	0.41	-6.05	-93.7%	-4.0%
Retail Transmission - Network	kWh 1	1,616	0.00490	7.92	1,615	0.00430	6.94	-0.97	-12.3%	-0.6%
Retail Trensmission - Connection	kWh	1,616	0.00440	7.11	1,615	0.00410	6.62	-0.49	-6.9%	-0.3%
Wholesale Market Service	kWh	1,616	0.00520	8.40	1,615	0.00520	8.40	-0.01	-0.1%	0.0%
Rural Rate Protection Charge	kWh	1,616	0.00100	1.62	1,615	0.00100	1.61	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	1,500	0.00700	10.50	1,500	0.00700	10.50	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	1,616	0.05450	88.06	1,615	0.05450	88.00	-0.07	-0.1%	0.0%
Total Bill				151.07			160.05	8.99	5.9%	5.9%

GS < 50KW 2,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	5.6%
Distribution	kWh	2,000	0.00510	10.20	2,000	0.00880	17.60	7.40	72.5%	3.8%
Sub-Total			_	23.56			41.98	18.42	78.2%	9.4%
Regulatory Asset Recovery	kWh	2,000	0.00430	8.60	2,000	0.00027	0.54	-8.06	-93.7%	-4.1%
Retail Trensmission - Network	kWh	2,154	0.00490	10.56	2,153	0.00430	9.26	-1.30	-12.3%	-0.7%
Retail Transmission - Connection	kWh	2,154	0.00440	9.48	2,153	0.00410	8.83	-0.65	-6.9%	-0.3%
Wholesale Market Service	kWh	2,154	0.00520	11.20	2,153	0.00520	11.19	-0.01	-0.1%	0.0%
Rural Rate Protection Charge	kWh	2,154	0.00100	2.15	2,153	0.00100	2.15	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	2,000	0.00700	14.00	2,000	0.00700	14.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	2,154	0.05450	117.41	2,153	0.05450	117.33	-0.09	-0.1%	0.0%
Total Bill	Γ '			196.97			205.28	8.31	4.2%	4.2%

GS < 50KW 5,000 kWh Consumption

			2007 BILL		1	2008 BILL		1	IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36			24.38	11.02	82.5%	2.3%
Distribution	kWh	5,000	0.00510	25.50	5,000	0.00880	44.00	18.50	72.5%	3.9%
Sub-Total				38.86			68.38	29.52	76.0%	6.2%
Regulatory Asset Recovery	kWh	5,000	0.00430	21.50	5,000	0.00027	1.35	-20.15	-93.7%	-4.3%
Retail Transmission - Network	kWh	5,386	0.00490	26.39	5,382	0.00430	23.14	-3.25	-12.3%	-0.7%
Retail Transmission - Connection	kWh	5,386	0.00440	23.70	5,382	0.00410	22.07	-1.63	-6.9%	-0.3%
Wholesale Market Service	kWb	5,386	0.00520	28.01	5,382	0.00520	27.99	-0.02	-0.1%	0.0%
Rural Rate Protection Charge	kWh	5,386	0.00100	5.39	5,382	0.00100	5.38	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	5,000	0.00700	35.00	5,000	0.00700	35.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	5,386	0.05450	293.54	5,382	0.05450	293.32	-0.22	-0.1%	0.0%
Total Bill				472.38			476.63	4.25	0.9%	0.9%

GS < 50KW 10,000 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$_	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				13.36		_	24.38	11.02	82.5%	1.2%
Distribution	kWh	10,000	0.00510	51.00	10,000	0.00880	88.00	37.00	72.5%	4.0%
Sub-Total				64.36			112.38	48.02	74.6%	5.2%
Regulatory Asset Recovery	kWh	10,000	0.00430	43.00	10,000	0.00027	2.70	-40.30	-93.7%	-4.3%
Retail Transmission - Network	k₩h	10,772	0.00490	52.78	10,764	0.00430	46.29	-6.50	-12.3%	-0.7%
Retail Transmission - Connection	kWh	10,772	0.00440	47.40	10,764	0.00410	44.13	-3.26	-6.9%	-0.4%
Wholesale Market Service	kWh	10,772	0.00520	56.01	10,764	0.00520	55.97	-0.04	-0.1%	0.0%
Rurel Rate Protection Charge	kWh	10,772	0.00100	10.77	10,764	0.00100	10.76	-0.01	-0.1%	0.0%
Debt Retirement Charge	kWh	10,000	0.00700	70.00	10,000	0.00700	70.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	10 <u>,772</u>	0.05450	587.07	10,764	0.05450	586.64	-0.44	-0.1 <u>%</u>	0.0%
Total Bill				931.40			928.87	-2.53	-0.3%	-0.3%

GS > 50KW

kW Consumption kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate	Charge	Volume	Rate	Charge	Change	Change	% of Total
Monthly Service Charge				273.58			282,14	8.56	3.1%	0.5%
Distribution	kW	60	1.66780	100.07	60	1.85640	111.38	11.32	11.3%	0.6%
Sub-Total				373.65			393.52	19.88	5.3%	1.1%
Regulatory Asset Recovery	kW	60	1.42640	85.58	60	0.09591	5.75	-79.83	-93.3%	-4.5%
Retail Transmission - Network	kW	60	2.01690	121.01	60	1.78700	107.22	-13.79	-11.4%	-0.8%
Retail Transmission - Connection	kW	60	1.75880	105.53	60	1.62510	97.51	-8.02	-7.6%	-0.5%
Wholesale Market Service	kWh	16,158	0.00520	84.02	16,146	0.00520	83.96	-0.06	-0.1%	0.0%
Rural Rate Protection Charge	kWh	16,158			16,146	0.00100	16.15			
Debt Retirement Charge	kWh	15,000	0.00700	105.00	15,000	0.00700	105.00	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	16,158	0.05450	880.61	16,146	0.05450	879.96	-0.65	-0.1%_	0.0%
Total Bill				1.755.41			1,689.07	-66.34	-3.8%	-3.8%

G\$ > 50KW 294 160,117 kW Consumption kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				273.58			282.14	8.56	3.1%	0.1%
Distribution	kW	294	1.66780	490.38	294	1.85640	545.84	55.45	11.3%	0.4%
Sub-Total			_	763.96			827.98	64.01	8.4%	0.5%
Regulatory Asset Recovery	kW	294	1.42640	419.40	294	0.09591	28.20	-391.20	-93.3%	-2.9%
Retail Transmission - Network	kW	294	2.01690	593.03	294	1.78700	525.43	-67.60	-11.4%	-0.5%
Retail Transmission - Connection	l kW l	294	1.75880	517.14	294	1.62510	477.83	-39.31	-7.6%	-0.3%
Wholesale Market Service	kWh	172,478	0.00520	896.89	172,350	0.00520	896.22	-0.67	-0.1%	0.0%
Rural Rate Protection Charge	kWh	172,478			172,350	0.00100	172.35			
Debt Retirement Charge	kWh	160,117	0.00700	1,120.82	160,117	0.00700	1,120.82	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	172,478	0.05450	9,400.05	172,350	0.05450	9,393.07	-6.98	-0.1%	-0.1%
Total Bill				13,711,29			13,441.90	-269.40	-2.0%	-2.0%

 
 GS > 50KW

 500
 kW Consumption

 100,000
 kWh Consumption
 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Valume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$_	Change %	% of Total Bill
Monthly Service Charge				273.58			282.14	8.56	3.1%	0.1%
Distribution	kW	500	1.66780	833.90	500	1.85640	928.20	94.30	11.3%	0.9%
Sub-Total				1,107.48			1,210.34	102.86	9.3%	0.9%
Regulatory Asset Recovery	kW	500	1.42640	713.20	500	0.09591	47.96	-665.25	-93.3%	-6.1%
Retail Transmission - Network	kW	500	2.01690	1,008.45	500	1.78700	893.50	-114.95	-11.4%	-1.1%
Retail Transmission - Connection	kW	500	1.75880	879.40	500	1.62510	812.55	-66.85	-7.6%	-0.6%
Wholesale Market Service	kWh	107,720	0.00520	560.14	107,640	0.00520	559.73	-0.42	-0.1%	0.0%
Rural Rate Protection Charge	kWh	107.720			107.640	0.00100	107.64			
Debt Retirement Charge	kWh	100,000	0.00700	700.00	100,000	0.00700	700.00	0.00	0.0%	0.0%
Cast of Power Commodity	kWh	107,720	0.05450	5,870.74	107,640	0.05450	5,866.38	-4.36	-0.1%	0.0%
Total Bill				10.839.41			10.198.09	-641.32	-5.9%	-5.9%

GS > 50KW 1,000 kW Consumption 200,000 kWh Consumption kWh Consumption

2007 BILL 2008 BILL IMPACT Charge Charge Change % of Total Rate Rate Change Metric Volume Volume Bill 0.0% **\$** 8.56 \$ 273.58 \$ 282.14 Monthly Service Charge
Distribution
Sub-Total
Regulatory Asset Recovery
Retail Transmission - Network 3.1% 11.3% kW 1.000 1.66780 1,667.80 1,000 1.85640 1,856.40 188.60 0.9% 1,941.38 1,426.40 2,016.90 2,138.54 95.91 1,787.00 197.16 -1,330.49 10.2% -93.3% -11.4% 0.9% -6.2% -1.1% 1.42640 1,000 0.09591 1,000 1,000 1,000 215,440 215,440 200,000 kW 2.01690 1.000 1.78700 -229.90 Retail Transmission - Connection
Wholesale Market Service
Rural Rate Protection Charge
Debt Retirement Charge
Cost of Power Commodity
Total Bill 1,000 215,280 215,280 200,000 1,625.10 1,119.46 215.28 1,400.00 11,732.76 20,114.05 kW kWh 1.75880 0.00520 1,758.80 1,120.29 1.62510 0.00520 -133.70 -0.83 -7.6% -0.1% -0.6% 0.0% 0.00100 0.00700 0.05450 kWh kWh 0.00700 0.05450 1,400.00 11,741.48 0.00 0.0% 215,440 215,280 -8.72 -1,291.20 0.0% -6.0%

Street Lighting
138 kW Consumption
48,814 kWh Consumption
689 Connections

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge		689	1.17	806.13	689	1.82	1,253.98	447.85	55.6%	8.2%
Distribution	kW	138	4.70010	650.87	138	7.43590	1,029.72	378.85	58.2%	7.0%
Sub-Total				1,457.00			2,283.70	826.70	56.7%	15.2%
Regulatory Asset Recovery	kW	138	0.35410	49.04	138	0.09400	13.02	-36.02	-73.5%	-0.7%
Retail Transmission - Network	kW	138	1.52110	210.64	138	1.34770	186.63	-24.01	-11.4%	-0.4%
Retail Transmission - Connection	kW	138	1.35970	188.29	138	1.25640	173.99	-14.30	-7.6%	-0.3%
Wholesale Market Service	kWh	52,583	0.00520	273.43	52,544	0.00520	273.23	-0.20	-0.1%	0.0%
Rural Rate Protection Charge	kWh	52,583	0.00100	52.58	52,544	0.00100	52.54	-0.04	-0.1%	0.0%
Debt Retirement Charge	kWh	48,814	0.00700	341.70	48,814	0.00700	341.70	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	52,583	0.05450	2,865.75	52,544	0.05450	2,863.63	-2.13	-0.1%	0.0%
Total Bill				5,438.44			6,188,43	750.00	13.8%	13.8%

Sentinel Lighting
0.75 kW Consumption
25 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				0.62			1.23	0.61	98.4%	4.4%
Distribution	kW	1	4.83960	3.63	L 1 _	9.45580	7.09	3.46	95.4%	24.8%
Sub-Total				4.25			8.32	4.07	95.8%	29.1%
Regulatory Asset Recovery	kW	1	7.65420	5.74	1	0.09635	0.07	-5.67	-98.7%	-40.5%
Retail Transmission - Network	kW [	1	1.52880	1.15	1 1	1.35450	1.02	-0.13	-11.4%	-0.9%
Retail Transmission - Connection	kW	1	1.38810	1.04	1 1	1.28260	0.96	-0.08	-7.6%	-0.6%
Wholesale Market Service	kWh	27	0.00520	0.14	27	0.00520	0.14	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	27	0.00100	0.03	27	0.00100	0.03	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	25	0.00700	0.18	25	0.00700	0.18	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	27	0.05450	1.47	27	0.05450	1.47	-0.00	-0.1%	0.0%
Total Bill				13.99			12.18	-1.81	-12.9%	-12.9%

Sentine) Lighting
0.75 kW Consumption
50 kWh Consumption

			2007 BILL			2008 BILL			IMPACT	
	Metric	Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				0.62			1.23	0.61	98.4%	3.9%
Distribution	kW	1	4.83960	_ 3.63	1	9.45580	_7.09	3.46	_ 95. <u>4%</u> _	21.9%
Sub-Total				4.25			8.32	4.07	95.8%	25.8%
Regulatory Asset Recovery	kW	1	7.65420	5.74	1	0.09635	0.07	-5.67	-98.7%	-35.9%
Retail Transmission - Network	kW	1	1.52880	1.15	1	1.35450	1.02	-0.13	-11.4%	-0.8%
Retail Transmission - Connection	kW	1	1.38810	1.04	1 1	1.28260	0.96	-0.08	-7.6%	-0.5%
Wholesale Market Service	k₩h	54	0.00520	0.28	54	0.00520	0.28	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	kWh	54	0.00100	0.05	54	0.00100	0.05	-0.00	-0.1%	0.0%
Debt Retirement Cherge	kWh	50	0.00700	0.35	50	0.00700	0.35	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	54	0.05450	2.94	54	0.05450	2.93	-0.00	-0.1%	0.0%
Total Bill				15.80			13.99	-1.81	-11.4%	-11.4%

Unmetered Scettered Loed
0 kW Consumption
800 kWh Consumption

Consumption levels for unmetered scattered load and Back/Stand-by Power should be specified.

	Metric	2007 BILL			2008 BILL			IMPACT		
		Volume	Rate \$	Charge \$	Volume	Rate \$	Charge \$	Change \$	Change %	% of Total Bill
Monthly Service Charge				7.80			7.34	-0.46	-5.9%	-0.4%
Distribution	kWh	800	0.03560	28.48	800	0.03510	28.08	-0.40	1.4%	-0.4%
Sub-Total				36.28		_	35.42	-0.86	-2.4%	-0.8%
Regulatory Asset Recovery	kWh	800	0.00970	7.76	800	0.00027	0.22	-7.54	-97.2%	-6.9%
Retail Transmission - Network	kWh	800	0.00490	3.92	800	0.00430	3.44	-0.48	-12.2%	-0.4%
Reteil Transmission - Connection	kWh	800	0.00440	3.52	800	0.00410	3.28	-0.24	-6.8%	-0 2%
Wholesale Merket Service	kWh	862	0.00520	4.48	861	0.00520	4.48	-0.00	-0.1%	0.0%
Rural Rate Protection Charge	ƙWh	862	0.00100	0.86	861	0.00100	0.86	-0.00	-0.1%	0.0%
Debt Retirement Charge	kWh	800	0.00700	5.60	800	0.00700	5.60	0.00	0.0%	0.0%
Cost of Power Commodity	kWh	862	0.05450	46.97	861	0.05450_	46.93	-0.03	-0.1%	0.0%
Total Bill				109.39			100.23	-9.16	-8.4%	-8.4%